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(N)
2005 £ (R < EAE) - 24 19 63 53 37 32 32 42 - 21 -
2009 & E (S ) FE- K 46 652 | 587 | 500 | 435 | 435 | 283 | 283 | 26.1 - -
BMKEZE i 1 | 100.0 - | 100.0 - - - - - - -
B 3 - - | 1000 -| 667 - - - - -
HEE 14 714 | 571 | 429 | 286 | 357 | 143 | 286 | 214 - -
BH-HR-KE 1 - | 100.0 - | 1000 - - - - - -
ITH—ER-EIE-ATAT 9 444 | 7718 | 444 | 444 | 556 | 444 | 222 | 333 - -
x EE = = = = = = = = = = =
&
REhE 1 | 100.0 - - | 100.0 - - - - - -
JRiE (EI5E - /N5E - R R) 4 750 | 250 | 500 | 500 | 250 | 250 | 250 | 250 - -
ER-RIE-)—X 8 750 | 875 | 625| 625| 500 | 625 | 500 | 375 - -
ZDMDY—ER 5 | 1000 | 600 | 400 | 600 | 600 | 200 | 400 | 400 - -
LRSI DETE - - - - - - - - - - -
4 |.5000 2Lk 26 692 | 692 | 462 | 308 | 423 | 231 | 231 | 269 - -
2 | 4999~1000 % 12 583 | 417 | 667 | 583 | 583 | 333 | 167 | 333 - -
8 | 999~300 & 6 667 | 500 | 333 | 667 | 333| 333| 667 16.7 - -
e 300 & K 2 500 | 500 | 500 | 500 -| 500]| 500 - - -
5,000 A LLE 20 600 | 600 | 550 | 300 | 400 | 300 | 250 | 250 - -
& | 5000 B R ~1,000 EH 14 57.1 500 | 500 | 429 | 429 | 214 | 286 | 214 - -
#5 | 1,000 {E k% ~500 EH 3 | 1000 | 667 | 1000 | 667 | 667 | 667 | 333 | 100.0 - -
M| 500 {EM ki~ 100 &M 4 | 1000 | 500 - | 1000 | 500 -| 250 - - -
® 100 {EARFE~10{EM 3 | 1000 | 667 | 667 | 333 | 333 | 333| 333| 333 - -
10 EARH 2 - | 1000 -| 500 500 500 500 - - -
x| BE 29 690 | 586 | 552 | 448 | 483 | 276 | 241 | 310 -
H &% | BRFEHICER 22 636 | 545 | 500 | 409 | 364 | 273 | 182 | 227 -
SVERIT N4 /Sler IZEEE 12 833 | 583 | 417 | 667 | 417 | 333 | 500| 250 -
1,000 EM L E 9 889 | 444 | 556 | 444 | 444 | 333 | 333 | 111 -
2 | 1000 fEMRE~100 EM 11 545 | 727 | 545 | 273 | 364 | 364 | 182 | 364 -
& T | 100 fBAXKFHE~108H 9 667 | 556 | 333 | 333 | 556 | 111 | 444| 1141 =
iﬁ% 10 EAXRE~1 M 13 538 | 538 | 538 | 462 | 385| 154 | 154 | 308 -
mh= 1 M Ri#~1,000 5 M 3 66.7 | 667 | 333 | 1000 | 333 | 66.7| 667 | 333 -
1,000 75 K i = = = = = = = = = =
s | SLA®Y 27 852 | 593 | 481 | 407 | 407 | 259 | 222| 222 -
B L | EERERY 14 | 357 | 643 | 571 | 357 | 429 | 357 | 357 | 286 -
2 | FTELNHD 5 400 | 400 | 400| 800 | 600 | 200 | 400 | 400 -
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2009 & (S ) FE- 1K 46 30 27 23 20 20 13 13 12 - -
BMKEZE i 1 1 - 1 - - - - - - -
BEE 3 - - 3 - 2 - - - - -
HEE 14 10 8 6 4 5 2 4 3 - -
BH-HR-KE 1 - 1 - 1 - - - - - -
ITH—EX-BE-ATAT 9 4 7 4 4 5 4 2 3 - -
TEE 1 1 - - 1 - - - - - -
JiE (EI5E - /N5E - R R) 4 3 1 2 2 1 1 1 1 - -
ER-RIE-)—X 8 6 7 5 5 4 5 4 3 - -
ZDMDY—ER 5 5 3 2 3 3 1 2 2 - -
LRSI DETE - - - - = = = = = = =
4 | .5000 2Lk 26 18 18 12 8 11 6 6 7 - -
2 | 4999~1000 % 12 7 5 8 7 7 4 2 4 - -
8 | 999~300 % 6 4 3 2 4 2 2 4 1 - -
e 300 £ Kk 2 1 1 1 1 - 1 1 - - -
5,000 A LLE 20 12 12 11 6 8 6 5 5 - -
& | 5000 B R ~1,000 &M 14 8 7 7 6 6 3 4 3 - -
7 | 1,000 {&F R~ 500 fEH 3 3 2 3 2 2 2 1 3 = =
M| 500 {EM ki~ 100 &M 4 4 2 - 4 2 - 1 - - -
® 100 {EARFE~10{EM 3 3 2 2 1 1 1 1 1 - -
10 EMARH 2 - 2 - 1 1 1 1 - - =
Ex | BE 29 20 17 16 13 14 8 7 9 - -
H &% | BRFEICER 22 14 12 11 9 8 6 4 5 - -
S\ERIT N4 /Sler IZEEE 12 10 7 5 8 5 4 6 3 - -
1,000 EMLLE 9 8 4 5 4 4 3 3 1 - -
2 | 1000 fEAR#~100 EM 11 6 8 6 3 4 4 2 4 - -
& T | 100 fBAXKHE~10 &M 9 6 5 3 3 5 1 4 1 - -
%E% 10 fBAXE~1 &M 13 7 7 7 6 5 2 2 4 - -
B S EmERE~1.000 5F 3 2 2 1 3 1 2 2 1 = -
1,000 5 F K i = = = = = = = = = = =
s | SLA®Y 27 23 16 13 11 11 7 6 6 - -
£ L [ EEREDY 14 5 9 8 5 6 5 5 s | - | -
2 | FTELNHD 5 2 2 2 4 3 1 2 2 - -
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(N) A = &

2005 £ (R < BIFFE) - &K 19 11 11 21 16 32 5 - 5 - 47
2009 &£ [E (S E)FE- K 45 22.2 20.0 178 1.1 8.9 6.7 44 - - 3738
EWKESE - LE 1 - - - | 100.0 | 100.0 - - = = =
@ 3 - 66.7 - 66.7 - 33.3 - - - -
HEE 14 28.6 7.1 28.6 7.1 - 7.1 - - - 35.7
BHHRKE 1 - | 1000 - - - - - - - -
ITY—ERBEATAT 8 12.5 - 12.5 12.5 - - 25.0 - - 62.5
o8& 1 | 100.0 | 100.0 = = = = = = = =
il (E5E - INoE - BRR) 4 = - | 250 = - | 250 = - - | 500
S8 RIR-—X 8 | 250 | 500 a - | 3875 = = = = 25
Z0MDY—ER 5 40.0 - 40.0 - - - - - - 60
FRUSNDERE = = = = = = = = = = =
4 |5000 Lk 26 15.4 19.2 15.4 115 115 11.5 38 - - 385
= | 4999~1000 % 12 25.0 25.0 25.0 8.3 8.3 - 8.3 - - 33.3
B | 999~300 4 6 50.0 16.7 16.7 16.7 - - - - - 333
e 300 £ ik 1 - - - - - - - - - | 100.0
5,000 EMALLE 20 5.0 25.0 15.0 15.0 15.0 10.0 5.0 - - | 400
= 5,000 &M R ~1,000EH | 14 28.6 14.3 14.3 14.3 - 7.1 - - - 35.7
7 | 1,000 fEF % ~500 &M 3 - | 333 = - | 333 - | 333 = - | 333
M| 500 {EMAFKE~100 &M 4 75.0 25.0 50.0 - - - - - - 25.0
= 100 EARE~10EH 2 50.0 - - - - - - - - 50.0
10 EAXH 2 50.0 - 50.0 - - - - - - 50.0
& | BE 28 214 25.0 17.9 10.7 14.3 10.7 3.6 - - 32.1
A& | BRFSHCER 22 9.1 136 | 227 | 136 9.1 45 45 - - | 500
SMERIT A& /Sler IZREE | 12 333 8.3 16.7 8.3 8.3 - - - - 50.0
1,000 &ML E 9 - 22.2 22.2 22.2 22.2 11.1 - - - 333
2 1,000 {EFRiE~100 {2 11 18.2 18.2 9.1 9.1 9.1 9.1 9.1 - - 36.4
& T | 100 EAXE~10{EM 9 55.6 333 22.2 - 11.1 11.1 - - - 11.1
b7 % 10 {EAXRFE~11EH 12 25.0 16.7 25.0 16.7 - - - - - 50.0
BB S EmRE~1000 5F 3 - - - - - - - - - | 1000
1,000 MR = = = = = = = = = = =
s | SLA®Y 26 19.2 11.5 15.4 115 115 7.7 7.7 - - 385
g 5 | sEEEHY 14 28.6 28.6 28.6 14.3 - - - - - 35.7
P | 3ENHS 5 | 200 | 400 - - | 200 | 200 - - - | 400
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® 100 EAXRiHE~10 EH 2 1 - - - - - - - - 1
10 EAXH 2 1 - 1 - - - - - - 1
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(N) = = % L LV T
2009 £ E (SE)AE- &K 242 15.3 13.6 12.4 215 31.4 5.8
BMUKESE L% 2 50.0 - - 50.0 - =
[ 18 5.6 22.2 11.1 22.2 33.3 5.6
BEE 78 14.1 7.7 15.4 244 37.2 1.3
EBH-HR-KE 4 50.0 - - 25.0 25.0 -
ITH—ER-BIE- AT« 9 245 26.5 2.2 6. 8. 2.2
Y—ER-BIE-ATAT 4 4 1 1 18.4 1
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TEE 6 - 16.7 33.3 16.7 33.3 -
JRaE (55 - /NE -8R E) 28 10.7 10.7 10.7 25.0 429 -
@t RIR-1)—X 22 13.6 9.1 13.6 40.9 18.2 45
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LELS D EFE 3 = - - - 333 66.7
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# 4999~ 1000 % 68 8.8 17.6 19.1 25.0 235 5.9
% 999~300 % 63 6.3 15.9 6.3 25.4 42.9 3.2
300 4 Kl 51 39 3.9 9.8 21.6 54.9 5.9
5,000 EMLLE 52 36.5 21.2 17.3 115 5.8 1.1
= 5,000 {2 i~ 1,000 &M 47 19.1 14.9 234 27.7 14.9 -
1,000 {2 >R i ~500 {EH 24 42 16.7 8.3 29.2 375 4.2
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EH B 163 16.0 12.3 8.6 20.9 36.8 55
A& | BRFEHICET 58 32.8 19.0 155 20.7 6.9 5.2
SLERIT R /Sler IZREE 58 24.1 155 13.8 19.0 24.1 3.4
1,000 B LI E 10 80.0 20.0 - - - -
2 1,000 & 2K i# ~ 100 &M 27 33.3 25.9 14.8 14.8 3.7 1.4
& T | 100 EMEKEH~10 {EM 39 10.3 15.4 30.8 23.1 15.4 5.1
*Eﬁ 10 EEXRE~1EH 71 9.9 16.9 12.7 29.6 28.2 2.8
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= 1 fEMR#E~1,000 5H 60 6.7 10.0 3.3 20.0 51.7 8.3
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ﬁ k EEEEHY 33 12.1 36.4 15.2 15.2 9.1 12.1
SLA/EBBIEIZE T 7E 51 78 9.8 235 25.5 29.4 39
SLA/BIBIEIZAL 85 - 24 1.2 271 62.4 7.1
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3.9

3.8

3.64
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(5 m=ml)., 4 m=%P% 3 H=EE, 2 m=POEL, 1={ELY)

Y| 28 Y B | BE | q | DB

CIRA | | 58 % I Z | & A N E | E 3
X4 t E E it I\ E Ly | iR IS L b3 XK
ol 21 T A | RE| £ @ ES
o (5 + 2 El # 58 =
g pL:c) N ~ H % 0_2 1t E S
: (1)) 7 » HR 4% % 181

| (N) 70 9 69 69 69 69 69 69 69

2009 &£ [E (S E)FE -2 3.94 3.90 380 | 364 | 359 | 352 | 349 | 345
BMKEZE L% 3.00 5.00 500 | 400 | 400 | 400 | 400 | 5.00

b 4.20 4.20 420 | 400 | 360 | 340 | 360 | 3.80

BEE 412 412 382 | 371 | 394 | 388 | 359 | 335
Bh-ARKE 4.00 450 350 | 400 | 250 | 350 | 250 | 2.00
ITH—ER-EE-AT47 4.00 3.72 381 | 356 | 356 | 336 | 360 | 3.44

% E# 3.33 467 300 | 367 | 400 | 367 | 300 | 3.00
TENE 3.00 3.00 400 | 300 | 400 | 300 | 300 | 4.00

Rl (EN5E - /N -BRE) 4.00 3.50 400 | 350 | 367 | 3.17 | 333 | 367
Eph-RE-1)—X 4.00 3.75 350 | 375 | 300 | 350 | 350 | 3.50
ZDMOY—ER 3.40 3.60 340 | 340 | 300 | 360 | 340 | 3.60
LRSS DETE = = = = = = = =

4 | 5000 2Lk 412 4.30 406 | 409 | 373 | 400 | 373 | 3.82
£ 4999~1000 % 3.83 3.56 367 | 339 | 367 | 322 | 322 | 3.00
8 999~300 % 3.64 3.64 329 | 300 | 321 | 293 | 336 | 3.21
® 00 &K 4.00 3.00 400 | 325 | 350 | 300 | 325 | 3.25
5,000 A LLE 410 4.24 376 | 400 | 362 | 379 | 348 | 348

s 5,000 &M 3 & ~ 1,000 &M 4.06 413 425 | 394 | 388 | 381 388 | 388
] 1,000 {& >R i# ~500 {5 M 4.00 3.40 380 | 300 | 400 | 240 | 300 | 240
| 500 EAKE~100 &M 345 3.27 318 | 282 | 318 | 309 | 318 | 3.36
® 100 fEA R #H~10 EH 3.71 3.43 386 | 329 | 329 | 329 | 343 | 3.29
10 BEE X & 4.00 3.00 400 | 300 | 300 | 300 | 400 | 3.00

E R BE 3.96 3.89 382 | 360 | 360 | 353 | 358 | 358
B &% | BRFEHICER 3.83 3.87 377 | 367 | 353 | 357 | 327 | 337
HLERIT R4 /Sler IZEEE 4.00 3.74 374 | 357 | 352 | 348 | 370 | 3.39

1,000 fEM L E 4.20 4.20 440 | 410 | 390 | 420 | 410 | 4.10

Ea 1,000 {EF K i#~ 100 {EH 4.25 4.20 380 | 387 | 347 | 360 | 327 | 3.40
& T | 100 fEAXK#E~10 {EH 350 4.20 360 | 370 | 380 | 380 | 350 | 3.60
BE [HoEAxE~1EA 411 3.63 389 | 337 | 374 | 326 | 342 | 342
w M 1 MK ~1,000 HH 3.50 3.40 350 | 300 | 300 | 330 | 340 | 3.00
1,000 75 2K 5.00 4.00 400 | 400 | 400 | 400 | 500 | 4.00
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= 2al FE|LE & | F2| mkh| 2k B | Bm 5| &5 b
[y 75 2 B = T & Y n r o A 59 D zE P
P IR LN R Eed < 8 H 7 = m ] @D
5 A% % {# N0 H [} H Ly 4 iz < 1%
[ (V) 241 | 241 | 241 | 241 | 240 | 241 | 241 | 241 | 241 | 241 | 241 | 241 | 241
2009 £ E (S EDHAE-£& 375 | 350 | 349 | 347 | 344 | 344 | 339 | 339 | 336 | 327 | 320 | 305 | 281
BMKEZE- % 300 | 450 | 350 | 3.00 | 400 | 3.00 | 300 | 450 | 400 | 350 | 3.00 | 250 | 3.00
EEE 356 | 356 | 344 | 344 | 317 | 322 | 339 | 311 | 306 | 317 | 283 | 289 | 3.06
HiEE 395 | 372 | 355 | 364 | 359 | 362 | 356 | 365 | 3.72 | 342 | 338 | 301 | 294
BhH-HR-KE 275 | 300 | 225 | 275 | 325 | 200 | 275 | 250 | 250 | 2.75 | 225 | 3.00 | 2.00
ITH—ERGBIE-ATA4T 357 | 331 | 343 | 335 | 315 | 337 | 316 | 327 | 310 | 320 | 3.10 | 288 | 2.82
% bEL 1] 382 | 345 | 382 | 364 | 355 | 336 | 318 | 355 | 336 | 300 | 3.18 | 282 | 2.36
EIE 383 | 300 | 317 | 317 | 350 | 300 | 350 | 350 | 2.83 | 300 | 300 | 3.17 | 267
R (5 /e R E) 389 | 330 | 374 | 341 | 344 | 370 | 319 | 337 | 348 | 326 | 3.30 | 3.30 | 2.56
£@l-RIR-)—X 391 | 364 | 368 | 368 | 373 | 364 | 382 | 345 | 3.18 | 336 | 3.23 | 350 | 277
ZDMDH—ER 348 | 343 | 319 | 324 | 338 | 3.14 | 348 | 290 | 324 | 3.10 | 324 | 3.00 | 3.05
RS DETE 367 | 333 | 300 | 333 | 367 | 300 | 267 | 333 | 2.67 | 400 | 300 | 3.33 | 2.00
] 5000 £ LA E 377 | 362 | 358 | 362 | 370 | 338 | 357 | 347 | 335 | 370 | 322 | 378 | 3.02
" % 4999~1000 % 373 | 346 | 352 | 348 | 364 | 327 | 343 | 330 | 348 | 330 | 331 | 3.19 | 279
2 | 999~300 & 386 | 349 | 351 | 346 | 324 | 367 | 333 | 341 | 330 | 3.13 | 3.16 | 260 | 2.90
300 & K 363 | 343 | 333 | 331 | 312 | 345 | 322 | 341 | 327 | 292 | 310 | 253 | 249
5,000 &AL E 365 | 354 | 346 | 348 | 363 | 329 | 354 | 335 | 3.10 | 354 | 304 | 3.77 | 271
= 5,000 {& 2K i# ~ 1,000 &M 406 | 391 | 366 | 368 | 379 | 347 | 357 | 355 | 379 | 357 | 349 | 347 | 3.11
7 1,000 {&F 3R ~ 500 &M 361 | 330 | 348 | 326 | 348 | 326 | 326 | 326 | 330 | 309 | 317 | 291 | 265
ig 500 {EMKi#E~100 {EH 368 | 325 | 354 | 345 | 315 | 362 | 328 | 331 | 323 | 308 | 3.12 | 258 | 2.86
# 100 B XR#E~10 &M 382 | 350 | 330 | 341 | 328 | 352 | 332 | 348 | 350 | 307 | 323 | 261 | 2.64
10 {BARH 330 | 350 | 350 | 340 | 330 | 300 | 320 | 340 | 300 | 310 | 320 | 250 | 2.80
_— BE 373 | 355 | 346 | 347 | 337 | 347 | 338 | 338 | 346 | 323 | 327 | 275 | 294
ﬁ =% BRFEHICRTE 362 | 350 | 343 | 343 | 338 | 328 | 338 | 338 | 310 | 328 | 3.14 | 3.38 | 2.90
SLERIT R4 /Sler IZEREE 381 | 348 | 369 | 355 | 362 | 340 | 347 | 347 | 334 | 352 | 328 | 381 | 257
1,000 M LI E 340 | 370 | 370 | 330 | 380 | 320 | 350 | 3.30 | 3.30 | 350 | 3.10 | 3.70 | 2.70
3 1,000 {EF K~ 100 EH 389 | 363 | 352 | 359 | 385 | 326 | 381 | 344 | 311 | 356 | 3.15 | 3.56 | 2.81
& T | 100 {EAXR#E~10{EM 372 | 344 | 379 | 369 | 364 | 341 | 341 | 338 | 333 | 338 | 3.18 | 344 | 272
;g % 10 EAXRE~1 EM 379 | 361 | 344 | 343 | 342 | 349 | 361 | 334 | 337 | 334 | 323 | 3.16 | 287
=]
1 fEMER#H~1,000 5H 382 | 340 | 342 | 343 | 327 | 355 | 317 | 348 | 347 | 312 | 332 | 243 | 287
1,000 75 K 354 | 335 | 315 | 323 | 304 | 331 | 296 | 323 | 342 | 292 | 315 | 250 | 2.46
SLA %Y 359 | 358 | 358 | 353 | 351 | 327 | 356 | 3.33 | 322 | 347 | 321 | 353 | 3.03
% E FEEEHY 364 | 358 | 361 | 370 | 361 | 342 | 364 | 336 | 3.33 | 361 | 327 | 321 | 2.91
m A | SIAVEEERETE 402 | 367 | 365 | 351 | 351 | 363 | 345 | 357 | 351 | 3.31 | 333 | 318 | 271
SLA/EEIRERL 377 | 331 | 329 | 331 | 327 | 348 | 312 | 336 | 339 | 295 | 3.10 | 248 | 2.65
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39-1

RERBORLA (DT REITHTIBAMNMEAR G/ EEER LIZOENEELY)

N=241(SA)

HEY 2< #<ELS
mirn— BLGL ey 116%
14.5% 04%

(BS{31: 9. SA)

FEEBORELA

X4 (N) Eﬁ\( bf(b E?‘é_"o}:% ab?b) i?fz<

LS LS WNZ AL RECALY RELCALY

214K 241 11.6 42.3 31.1 145 0.4
BEWKEE - 2 50.0 50.0 - = =

B 18 - 61.1 333 5.6 -

BB 78 19.2 46.2 218 12.8 -
BH-HRKE 4 - 50.0 - 50.0 -
ITH—EX-EE-ATAT 49 14.3 28.6 32.7 22.4 2.0

% PELL] 11 - 54.5 36.4 9.1 -
TENE 6 - 16.7 66.7 16.7 -

JRaE (HI5E-/NT -8R E) 27 - 48.1 33.3 185 -

@l -RIE-)—X 22 9.1 54.5 273 9.1 -
ZDMDHF—ER 21 14.3 23.8 52.4 9.5 -
LRSS DETE 3 - 33.3 66.7 - -

4 | 5000 2Lt 60 15.0 41.7 333 10.0 -
= | 4999~1000 & 67 11.9 37.3 35.8 14.9 -
B | 999~300 & 63 1.1 42.9 30.2 15.9 -
E 300 & Kk 51 78 49.0 235 17.6 20
5,000 &AL E 52 11.5 42.3 34.6 11.5 -

= 5,000 {8 F i~ 1,000 {E M 47 19.1 57.4 19.1 43 -
7 | 1,000 8K ~500 &M 23 - 47.8 34.8 174 -
M| 500 EMAKE~100 &M 65 6.2 338 385 215 -
& 100 {EMRE~10 EH 44 205 31.8 273 18.2 2.3
10 B 10 - 60.0 30.0 10.0 -

E A BE 162 14.2 40.7 315 13.0 0.6
B & | BRFEHICER 58 13.8 36.2 36.2 13.8 -
SLERIT RS /Sler IZREE 58 10.3 43.1 32.8 12.1 1.7

1,000 ML E 10 30.0 20.0 40.0 10.0 -

2 1,000 {& 2K i# ~ 100 &M 27 18.5 40.7 25.9 14.8 -
& T | 100 BAXRFE~101EA 39 7.7 46.2 28.2 17.9 -
fﬁﬁ 10 fEARE~1 {EH 70 10.0 52.9 25.7 11.4 -
BE T EERE~1.000 5@ 60 10.0 383 333 18.3 -
1,000 5 AR 26 11.5 308 423 115 38
SLAHY 73 16.4 35.6 37.0 11.0 -

E FHIEEHY 33 9.1 515 27.3 12.1 -
3-‘3?5‘) FENDHD 51 9.8 52.9 314 59 -
SELFTEN 84 95 38.1 27.4 23.8 1.2

- 110 -



[R#AR—X]

(BAfSL: 5. SA)

REEHEORLA
X4 (N) §§\< bf(b EB_B&‘B %?L) i*ff:(
LS LD WNZ ALY RECALY RELALY
EXL 241 28 102 75 35 1
BEWKEE - 2 1 1 - = =
B 18 - 11 6 1 -
BiEE 78 15 36 17 10 -
EBH-HR-KE 4 - 2 - 2 -
ITH—ER-EE-ATAT 49 7 14 16 11 1
% EE 11 - 6 4 1 -
TENE 6 - 1 4 1 -
TRaE (HI5E-/NT -8R E) 27 - 13 9 5 -
@l -RIE-)—X 22 2 12 6 2 -
FDMOY—ER 21 3 5 11 2 -
LRSS DETE 3 - 1 2 = =
it 5000 & kL 60 9 25 20 6 -
= | 4999~1000 & 67 8 25 24 10 -
B | 999~300 & 63 7 27 19 10 -
E 300 £ Kl 51 4 25 12 9 1
5,000 &AL E 52 6 22 18 6 -
= 5,000 {8 F i~ 1,000 {E M 47 9 27 9 2 -
7 | 1,000 8K ~500 &M 23 - 11 8 4 -
B | 500 fEAKE~100 &M 65 4 22 25 14 -
& 100 EAXRH~10 {EH 44 9 14 12 8 1
10 B 10 = 6 3 1 -
E A BE 162 23 66 51 21 1
B & | BRFULICER 58 8 21 21 8 -
SLERIT R4 /Sler IZREE 58 6 25 19 7 1
1,000 B LLE 10 3 2 4 1 -
2 1,000 & 2K i# ~ 100 &M 27 5 11 7 4 -
g T | 100 fBAX#E~10 &M 39 3 18 11 7 =
fﬁﬁ 10 (EAERAE~1 BM 70 7 37 18 8 -
BE T EmRE~1.000 5@ 60 6 23 20 11 -
1,000 /5 AR 26 3 8 11 3 1
SLAHY 73 12 26 27 8 -
:ﬁE FHIEEHY 33 3 17 9 4 -
%GA) FTEMNHD 51 5 27 16 3 -
SHRBETEN 84 8 32 23 20 1
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39-2

FEBHOECAH(QIT Y—ERDIRMEEN DMLY/ HHYIZLLY)

N=240(SA)

FL £< WL D
g’w{\,@um\\ 11.3%

14.2% 1-7%
PPRECS
39.2%

(BA{3T:%. SA)

FEEHBOKLA
X4 (N) §§\< «bfca E‘B_BL—% h;LJ i?fz<
*LD *LD AV #-R BT RECAL

21K 240 11.3 39.2 33.8 14.2 1.7
BMKEZE RE 2 - 100.0 - - -
BERE 18 5.6 27.8 44.4 22.2 -
HWEX 78 115 44.9 35.9 6.4 1.3
Bh-HR-KE 4 25.0 25.0 - 50.0 -
ITH—EX-EE-ATAT 48 8.3 31.3 313 25.0 42
*%i PELT] 11 9.1 455 36.4 9.1 -
TENE 6 16.7 333 333 16.7 -
TRE (EIFE-/N5E- R E) 27 74 44.4 37.0 7.4 3.7
Eph-RE-1)—X 22 13.6 59.1 13.6 13.6 -
ZDMDY—E R 21 19.0 19.0 429 19.0 -
LRSI DETE 3 333 - 66.7 - -
4 | 5000 2Lk 60 23.3 40.0 20.0 16.7 -
£ 4999~ 1000 % 67 134 47.8 28.4 10.4 -
8 999~300 & 63 6.3 34.9 39.7 14.3 4.8
® 00 % K% 50 - 32,0 50.0 16.0 2
5,000 M LI E 52 21.2 385 23.1 17.3 -
P 5,000 {& i ~ 1,000 &M 47 21.3 46.8 21.3 10.6 -
75 | 1,000 {EFXKiE~500 &M 23 43 52.2 30.4 13.0 =
5 500 {EFRi#~ 100 {EH 65 46 30.8 446 15.4 46
® 100 {EFR#H~10 {EM 43 47 37.2 419 14.0 2.3
10 EFRH 10 - 40.0 50.0 10.0 -
B BE 161 8.7 40.4 32.9 155 25
H &% | BHRFEHICRT 58 13.8 27.6 414 17.2 -
HLERIT R4 /Sler IZEFE 58 19.0 39.7 29.3 8.6 34

1,000 fEM L E 10 20.0 50.0 20.0 10.0 -

=z | [1000 {BEARE~100 EM 27 333 29.6 25.9 11.1 -

& T | 100 fBAXRE~10{EA 39 10.3 53.8 25.6 10.3 =
%% 10 Bk ~1 1M 69 116 377 381 15.9 14
1 {EMK#~1,000 HH 60 1.7 41.7 41.7 11.7 33
1,000 75 2K 26 38 23.1 50.0 19.2 38
SLA®Y 72 18.1 333 30.6 18.1 -
5 E EEEEHY 33 18.2 36.4 333 12.1 -
S oA) FENDHD 51 78 56.9 17.6 13.7 39
SHRBEITHEN 84 48 345 46.4 11.9 24
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA

X4 (N) §§\< bf(b &‘6_»3&, %?L) i*ff:(
LS LD WNZ ALY RECALY RELALY
214K 240 27 94 81 34 4
BEWKEE - 2 - 2 - = =
B 18 1 5 8 4 -
BiEE 78 9 35 28 5 1
BH-HRKE 4 1 1 - 2 -
ITH—ER-EE-ATAT 48 4 15 15 12 2
% EE 11 1 5 4 1 -
TENE 6 1 2 2 1 -
TRaE (HI5E-/NT -8R E) 27 2 12 10 2 1
@l -RIE-)—X 22 3 13 3 3 -
FDMOY—ER 21 4 4 9 4 -
LU DEFE 3 1 - 2 - -
it 5000 & kL 60 14 24 12 10 -
= | 4999~1000 & 67 9 32 19 7 -
B | 999~300 & 63 4 22 25 9 3
E 300 £ Kl 50 - 16 25 8 1
5,000 &AL E 52 11 20 12 9 -
= 5,000 {8 F i~ 1,000 {E M 47 10 22 10 5 -
7 | 1,000 8K ~500 &M 23 1 12 7 3 -
M| 500 EMAKE~100 &M 65 3 20 29 10 3
& 100 EAXRH~10 {EH 43 2 16 18 6 1
10 B 10 = 4 5 1 -
E A BE 161 14 65 53 25 4
B & | BRFULICER 58 8 16 24 10 -

SLERIT R4 /Sler IZREE 58 11 23 17 5

1,000 B LLE 10 2 5 2 1
2 1,000 & 2K i# ~ 100 &M 27 9 8 7 3 -
g T | 100 fBAX#E~10 &M 39 4 21 10 4 =
fﬁﬁ 10 (EAERAE~1 BM 69 8 26 23 1 1
BE T EmRE~1.000 5@ 60 1 25 25 7 2
1,000 /5 AR 26 1 6 13 5 1
SLAHY 72 13 24 22 13 -
:ﬁE FHIEEHY 33 6 12 11 4 -
%GA) FTEMNHD 51 4 29 9 7 2
SHRBETEN 84 4 29 39 10 2
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39-3

RERHORLH (OEA/RTERADIX M @AY, FiRAEEZRICEEEL)

N=241(SA)
£< .
HEY BECALY HWCRLS
AN 29% [ 12.4%
14.1%

PPRELS
34.4%

(BA{3T:%. SA)

FEEHBOKLA
X4 (N) §§\< «bfco E%_fot% &?LJ i?f:<
*LD *LD AV #-R BT RECAL

21K 241 12.4 34.4 36.1 14.1 29
BMKEE-IE 2 50.0 - - - 50.0

BERE 18 5.6 38.9 44.4 11.1 -

HWEX 78 17.9 35.9 34.6 7.7 38
Bh-HR-KE 4 - 25.0 25.0 50.0 -
ITH—ER-EE-AT4T 49 8.2 30.6 34.7 22.4 4.1

i%i PELT] 11 - 36.4 455 18.2 -
TENE 6 - 50.0 50.0 - -

TRE (EIFE-/N5E- R E) 27 74 29.6 40.7 18.5 3.7
Eph-RE-1)—X 22 18.2 54.5 18.2 9.1 -
ZDHDY—E R 21 19.0 238 42.9 14.3 -
LRSI DETE 3 = - 66.7 33.3 -

4 | 5000 2Lk 60 20.0 350 30.0 11.7 33
£ 4999~ 1000 % 67 6.0 41.8 43.3 75 15
8 999~300 & 63 12.7 33.3 31.7 19.0 3.2
® 00 % K 51 11.8 255 39.2 19.6 39
5,000 EMLLE 52 19.2 346 28.8 15.4 1.9

P 5,000 {& i ~ 1,000 &M 47 12.8 447 34.0 43 43
75 | 1,000 fEF R ~500 &M 23 = 39.1 47.8 13.0 =
5 500 {EFRi#~ 100 {EH 65 10.8 29.2 40.0 16.9 3.1
® 100 {EFR#H~10 {EM 44 15.9 27.3 31.8 22.7 2.3
10 {BEFEKH 10 - 40.0 50.0 - 10.0

B BE 162 12.3 352 340 15.4 3.1
H &% | BHRFEHICRT 58 8.6 379 39.7 10.3 34
HLERIT R4 /Sler IZEFE 58 19.0 31.0 31.0 15.5 34

1,000 fEM L E 10 30.0 20.0 30.0 10.0 10.0

=z | [1000 {BEARE~100 EM 27 25.9 40.7 22.2 11.1 -
& T | 100 MK ~10 {EH 39 10.3 35.9 41.0 10.3 2.6
%E% 10 BAXF~11EMA 70 15.7 386 37.1 8.6 -
"= 1 {EMK#~1,000 HH 60 6.7 28.3 433 18.3 33
1,000 75 2K 26 38 30.8 308 26.9 7.7
SLAHY 73 17.8 35.6 32.9 12.3 1.4

5 E EEEEHY 33 9.1 51.5 333 6.1 -
S oA) FENDHD 51 17.6 29.4 35.3 15.7 20
SHRBEITHEN 84 6.0 20.8 405 17.9 6.0
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA

X4 (N) §§\< bf(b t“%_%é:% %?L) i?f:<
LS LD WNZ ALY RECALY RELALY
EXL 241 30 83 87 34 7
BEWKEE - 2 1 - - - 1
B 18 1 7 8 2 -
BiEE 78 14 28 27 6 3
BH-HRKE 4 - 1 1 2 -
ITH—ER-EE-ATAT 49 15 17 11 2
% EE 11 - 4 5 2 -
TENE 6 3 3 - -

TRaE (HI5E-/NT -8R E) 27 2 8 11 5
@l -RIE-)—X 22 4 12 4 2 -
FDMOY—ER 21 4 5 9 3 -
LRSS DETE 3 - - 2 1 -
it 5000 & kL 60 12 21 18 7 2
= | 4999~1000 & 67 4 28 29 5 1
B | 999~300 & 63 8 21 20 12 2
E 300 £ Kl 51 6 13 20 10 2
5,000 &AL E 52 10 18 15 8 1
= 5,000 {8 F i~ 1,000 {E M 47 6 21 16 2 2
7 | 1,000 8K ~500 &M 23 - 9 11 3 =
M| 500 EMAKE~100 &M 65 7 19 26 11 2
& 100 EAXRH~10 {EH 44 7 12 14 10 1
10 B 10 = 4 5 - 1
E A BE 162 20 57 55 25 5
B &% | BRFEHICER 58 5 22 23 6 2
SMERIT N4 /Sler IZREE 58 11 18 18 9 2
1,000 B LLE 10 3 2 3 1 1
2 1,000 & 2K i# ~ 100 &M 27 7 11 6 3 -

g T | 100 fBAX#E~10 &M 39 4 14 16 4
fﬁﬁ 10 (EAERAE~1 BM 70 11 27 26 6 -
BE T EmRE~1.000 5@ 60 4 17 26 11 2
1,000 /5 AR 26 1 8 8 7 2
SLAHY 73 13 26 24 9 1
:ﬁE FHIEEHY 33 3 17 11 2 -
%GA) FTEMNHD 51 9 15 18 8 1
SHRBETEN 84 5 25 34 15 5
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39-4

REEROBRLA(DNBEREEZRAOLEENELY)

N=241(SA)

B memLs
BLal 10.8%
11.6%

HEY )
AR PORECD
19.9% 26.1%

(BS{31: 9. SA)

FEEBORELA

X4 N) 5‘§\< bfb Ev‘a_rotﬂe &;L} i?f:<

LS LS WNZ AL RECALY RELCALY
21k 241 10.8 26.1 315 19.9 11.6
BEWKEE - 2 - 50.0 - - 50.0
e 18 5.6 27.8 278 27.8 11.1
BB 78 115 25.6 308 16.7 15.4
BH-HRKE 4 - 25.0 50.0 25.0 -
ITH—EX-EE-ATAT 49 6.1 30.6 26.5 18.4 18.4
% Ei 11 9.1 18.2 273 36.4 9.1
TENE 6 16.7 - 66.7 16.7 -
JRaE (HI5E-/NT -8R E) 27 11.1 29.6 37.0 22.2 -
@l -RIE-)—X 22 18.2 40.9 13.6 273 -
ZDMDHF—ER 21 143 95 52.4 9.5 14.3
LRSS DETE 3 333 - 333 333 -
4 | 5000 &Lk 60 21.7 450 233 10.0 -
# 4999~1000 % 67 9.0 284 40.3 17.9 45
8 999~300 % 63 7.9 15.9 28.6 23.8 2338
B 00 e 51 39 13.7 333 29.4 19.6
5,000 &AL E 52 21.2 442 25.0 9.6 -
P 5,000 {8 F i~ 1,000 {E M 47 14.9 34.0 36.2 12.8 2.1
7 | 1,000 8K ~500 &M 23 4.3 26.1 34.8 26.1 8.7
M| 500 EMAKE~100 &M 65 6.2 15.4 30.8 26.2 215
& 100 {EARH~10 EH 44 6.8 15.9 31.8 22.7 22.7
10 B 10 - 10.0 40.0 40.0 10.0
& BE 162 5.6 21.6 315 25.3 16.0
B & | BRFEHICER 58 8.6 36.2 431 8.6 34
SLERIT RS /Sler IZREE 58 27.6 36.2 27.6 6.9 1.7
1,000 M Ll E 10 30.0 20.0 40.0 10.0 -
2 1,000 {& 2K i# ~ 100 &M 27 22.2 25.9 37.0 14.8 -
&g T | 100 MK ~10 &M 39 128 38.5 30.8 154 26
P % 10 fEARE~1 {EH 70 12.9 28.6 28.6 214 8.6
BE T EERE~1.000 5@ 60 17 15.0 317 283 233
1,000 5 AR 26 38 15.4 34.6 19.2 26.9
SLA®HY 73 19.2 342 30.1 13.7 2.7
E FHIEEHY 33 6.1 39.4 30.3 18.2 6.1
= aA> FEINHS 51 9.8 275 373 216 39
SELFTEN 84 6.0 13.1 29.8 25.0 26.2
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA
R4 N) §§\< «bf(b t“v‘a_nat%, %;L) i?f:<
LS LD WNZ ALY RECALY RELALY
21k 241 26 63 76 48 28
BEWKEE - 2 - 1 - - 1
e 18 1 5 5 5 2
BB 78 9 20 24 13 12
EBH-HR-KE 4 - 1 2 1 -
ITH—ER-EE-ATAT 49 3 15 13 9 9
% Ei 11 1 2 3 4 1
TENE 6 1 - 4 1 -
TRaE (HI5E-/NT -8R E) 27 3 8 10 6 -
@l -RIE-)—X 22 4 9 3 6 -
FDMOY—ER 21 3 2 11 2 3
LU DEFE 3 1 - 1 1 =
it 5000 & kL 60 13 27 14 6 -
# 4999~1000 & 67 6 19 27 12 3
8 999~300 % 63 5 10 18 15 15
E 300 £ Kl 51 2 7 17 15 10
5,000 &AL E 52 11 23 13 5 -
P 5,000 {8 F i~ 1,000 {E M 47 7 16 17 6 1
7 | 1,000 8K ~500 &M 23 1 6 8 6 2
B | 500 fEAKE~100 &M 65 4 10 20 17 14
& 100 EAXRH~10 {EH 44 3 7 14 10 10
10 B 10 = 1 4 4 1
@x | BE 162 9 35 51 41 26
B &% | BRFEHICER 58 5 21 25 5 2
SLERIT R4 /Sler IZREE 58 16 21 16 4 1
1,000 B LLE 10 3 2 4 1 -
2 1,000 & 2K i# ~ 100 &M 27 6 7 10 4 -
g T | 100 fBAX#E~10 &M 39 5 15 12 6 1
fﬁﬁ 10 (EAERAE~1 BM 70 9 20 20 15 6
BE T EmRE~1.000 5@ 60 1 9 19 17 14
1,000 /5 AR 26 1 4 9 5 7
SLAHY 73 14 25 22 10 2
E FHIEEHY 33 2 13 10 6 2
%GA) FENHD 51 5 14 19 11 2
SHRBETEN 84 5 11 25 21 22
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39-5

REEROBRLA(OHBERZRADLLENFLY)

N=241(SA)
£< <Rk L S
S ANRAL
11.2% PPRELS
zbi/; 16.2%

Ehibkd,
Ak
39%

(BE{3L: 9. SA)

FEEBORLA

X4 (N) §§\< «bf(b Efa_"o}:% %?L) $?7:<

LS LS WNZ AL RECALY RELCALY
214K 241 7.1 16.2 39.0 26.6 11.2
BEWKEE - 2 50.0 - - - 50.0
B 18 - 38.9 278 33.3 -
BB 78 7.7 20.5 37.2 26.9 7.7
BH-HRKE 4 - - 25.0 50.0 25.0
ITH—EX-EE-ATAT 49 10.2 12.2 40.8 22.4 143
% PELL] 11 - 9.1 36.4 36.4 18.2
TENE 6 - 16.7 333 50.0 -
JRaE (HI5E-/NT -8R E) 27 - 11.1 51.9 185 185
Ept-RIE-1)—X 22 9.1 13.6 31.8 36.4 9.1
ZDMDHF—ER 21 14.3 9.5 52.4 14.3 9.5
LRSS DETE 3 - - 33.3 333 33.3
4 | 5000 2Lt 60 13.3 20.0 30.0 28.3 8.3
= | 4999~1000 & 67 3.0 20.9 373 29.9 9.0
B | 999~300 £ 63 7.9 14.3 47.6 20.6 9.5
E 300 & k& 51 39 7.8 41.2 275 19.6
5,000 &AL E 52 5.8 17.3 32.7 30.8 135
= 5,000 {8 F i~ 1,000 {E M 47 12.8 234 27.7 34.0 2.1
7 | 1,000 8K ~500 &M 23 - 174 39.1 34.8 8.7
M| 500 EMAKE~100 &M 65 6.2 15.4 492 16.9 12.3
& 100 {EARH~10 EH 44 6.8 9.1 40.9 27.3 15.9
10 B 10 10.0 10.0 50.0 10.0 20.0
E A BE 162 9.9 17.3 40.1 228 9.9
B & | BRFEHICER 58 6.9 17.2 431 24.1 8.6
SLERIT RS /Sler IZREE 58 34 138 345 32.8 155
1,000 ML E 10 10.0 10.0 40.0 20.0 20.0
2 1,000 {& 2K i# ~ 100 &M 27 18.5 7.4 25.9 33.3 14.8
& T | 100 BAXRE~10EA 39 2.6 205 33.3 33.3 10.3
fﬁﬁ 10 fEARE~1 {EH 70 71 21.4 314 314 8.6
BE T EERE~1.000 5@ 60 33 133 55.0 233 50
1,000 5 AR 26 7.7 7.7 385 15.4 30.8
SLAHY 73 11.0 21.9 38.4 16.4 12.3
E FHIEEHY 33 6.1 242 24.2 455 -
=" aA> FENDHD 51 39 11.8 412 373 59
SELFTEN 84 6.0 10.7 440 214 17.9
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA
X4 (N) Eﬁ\( bf(b t“%_%é:% %?L) i?f:<
LS LD WNZ ALY RECALY RELALY
EXL 241 17 39 94 64 27
BEWKEE - 2 1 - - - 1
B 18 - 7 5 6 -
BiEE 78 6 16 29 21 6
BH-HRKE 4 - - 1 2 1
ITH—ER-EE-ATAT 49 5 6 20 11 7
% EE 11 - 1 4 4 2
TENE 6 - 1 2 3 -
TRaE (HI5E-/NT -8R E) 27 - 3 14 5 5
@l -RIE-)—X 22 2 3 7 8 2
FDMOY—ER 21 3 2 11 3 2
LRSS DETE 3 - - 1 1 1
it 5000 & kL 60 8 12 18 17 5
= | 4999~1000 & 67 2 14 25 20 6
B | 999~300 & 63 5 9 30 13 6
E 300 £ Kl 51 2 4 21 14 10
5,000 EMLLE 52 3 9 17 16 7
= 5,000 {8 F i~ 1,000 {E M 47 6 11 13 16 1
7 | 1,000 8K ~500 &M 23 - 4 9 8 2
B | 500 fEAKE~100 &M 65 4 10 32 11 8
& 100 EAXRH~10 {EH 44 3 4 18 12 7
10 B 10 1 1 5 1 2
E A BE 162 16 28 65 37 16
B &% | BRFEHICER 58 4 10 25 14 5
SLERIT R4 /Sler IZREE 58 2 8 20 19 9
1,000 B LLE 10 1 1 4 2 2
2 1,000 & 2K i# ~ 100 &M 27 5 2 7 9 4
g T | 100 fBAX#E~10 &M 39 1 8 13 13 4
fﬁﬁ 10 (EAERAE~1 BM 70 5 15 22 22 6
BE T EmRE~1.000 5@ 60 2 8 33 14 3
1,000 /5 AR 26 2 2 10 4 8
SLAHY 73 8 16 28 12 9
:ﬁE FHIEEHY 33 2 8 8 15 -
%GA) FTEMNHD 51 2 6 21 19 3
SHRBETEN 84 5 9 37 18 15
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39-6

RERBORLA(GIT REITHT HREROEMHNFSHIZLY)

N=241(SA)
<
HFEY LAY B8CKRRLD
BRLALN— 50% [ 149%

16.6%

EhiEd PORLD
cluingy 324%

31.1%

(BA{3T:%. SA)

FREEHORLA
X4 (N) §§\< «bfca 875_6&% h;LJ i?t(
*LD *LD AV #-R BT RECAL

21K 241 14.9 32.4 31.1 16.6 5.0
BMKEZE RE 2 - 100 - - -

[ 18 5.6 33.3 2738 2738 5.6

HWEX 78 25.6 34.6 29.5 6.4 38
Bh-HR-KE 4 - - 50.0 50.0 -
ITH—ER-EE-AT4T 49 10.2 32.7 245 22.4 10.2

#%E PELT] 11 9.1 36.4 455 - 9.1
TENE 6 - 16.7 50.0 33.3 -

TRE (EIFE-/N5E- R E) 27 14.8 37 33.3 11.1 3.7
Eph-RE-1)—X 22 13.6 27.3 27.3 27.3 45
ZDHDY—E R 21 95 28.6 38.1 238 -
LRSI DETE 3 = - 66.7 33.3 -

4 | 5000 2Lk 60 16.7 33.3 26.7 15.0 8.3
£ 4999~ 1000 % 67 16.4 37.3 284 13.4 45
8 999~300 & 63 9.5 31.7 39.7 175 16
® 00 % K 51 17.6 255 29.4 216 5.9
5,000 M LI E 52 1.7 32.7 32.7 15.4 115

P 5,000 {& i ~ 1,000 &M 47 27.7 383 19.1 14.9 -
75 | 1,000 {EFXKiE~500 &M 23 8.7 435 17.4 30.4 =
5 500 {EFRi#~ 100 {EH 65 9.2 29.2 431 12.3 6.2
® 100 {EFR#H~10 {EM 44 25.0 25.0 29.5 15.9 45
10 EFRH 10 - 30.0 40.0 30.0 -

B BE 162 17.9 352 25.3 185 3.1
B &% | BRFEHICER 58 8.6 276 39.7 13.8 10.3
HLERIT R4 /Sler IZEFE 58 13.8 32.8 345 12.1 6.9

1,000 fEM L E 10 10.0 40.0 30.0 10.0 10.0

=z | [1000 {BEARE~100 EM 27 18,5 14.8 37.0 185 11.1
& T | 100 MK ~10 {EH 39 12.8 33.3 35.9 10.3 7.7
%% 10 Bk ~1 1M 70 12.9 386 243 214 29
1 {EMK#~1,000 HH 60 18.3 30.0 35.0 133 33

1,000 75 2K 26 15.4 346 308 15.4 38
SLAHY 73 13.7 315 27.4 17.8 9.6

5 E EEEEHY 33 12.1 36.4 27.3 21.2 3.0
S oA) FENDHD 51 17.6 333 33.3 13.7 20
SHREFZITEN 84 15.5 31.0 345 155 36
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA
X4 (N) §§\< bf(b t“fa_'aé:% %?L) i?fz<
LS LD WNZ ALY RECALY RELALY
EXL 241 36 78 75 40 12
BEWKEE - 2 - 2 = = =
B 18 1 6 5 5 1
BiEE 78 20 27 23 5 3
BH-HRKE 4 - - 2 2 -
ITH—ER-EE-ATAT 49 5 16 12 11 5
% EE 11 1 4 5 - 1
TENE 6 - 1 3 2 -
TRaE (HI5E-/NT -8R E) 27 4 10 9 3 1
@l -RIE-)—X 22 3 6 6 6 1
FDMOY—ER 21 2 6 8 5 -
LRSS DETE 3 - - 2 1 -
it 5000 & kL 60 10 20 16 9 5
= | 4999~1000 & 67 11 25 19 9 3
B | 999~300 & 63 6 20 25 11 1
E 300 £ Kl 51 9 13 15 11 3
5,000 EMLLE 52 4 17 17 8 6
= 5,000 {8 F i~ 1,000 {E M 47 13 18 9 7 -
7 | 1,000 8K ~500 &M 23 2 10 4 7 -
B | 500 fEAKE~100 &M 65 6 19 28 8 4
& 100 EAXRH~10 {EH 44 11 11 13 7 2
10 B 10 = 3 4 3 -
E A BE 162 29 57 41 30 5
B &% | BRFEHICER 58 5 16 23 8 6
SLERIT R4 /Sler IZREE 58 8 19 20 7 4
1,000 B LLE 10 1 4 3 1 1
2 1,000 & 2K i# ~ 100 &M 27 5 4 10 5 3
g T | 100 fBAX#E~10 &M 39 5 13 14 4 3
fﬁﬁ 10 (EAERAE~1 BM 70 9 27 17 15 2
BE T EmRE~1.000 5@ 60 11 18 21 8 2
1,000 /5 AR 26 4 9 8 4 1
SLAHY 73 10 23 20 13 7
:ﬁE FHIEEHY 33 4 12 9 7 1
%GA) FTEMNHD 51 9 17 17 7 1
SHRBETEN 84 13 26 29 13 3
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39-7

REREORLA (DT KEITHT HFEFRMAD B AL F/LNIZLY)

N=241(SA)
s HCBLD
&3{” :u.»L/dJ/\\ 10%
AL 3.3%
/ 21.2%

Ebnbét

A

37.3%

(BS{31: 9. SA)

FEEBORELA

X4 N) §§\< «bf(b Efa_n‘ot{, %;L) i?f:<

LS LS WNZ AL RECALY RELCALY
214K 241 10.0 28.2 37.3 21.2 33
BEWKEE - 2 - - 100.0 - -
B 18 5.6 27.8 16.7 444 5.6
BB 78 14.1 30.8 37.2 15.4 2.6
BH-HRKE 4 - - 25.0 75.0 -
ITH—EREEATA4T 49 8.2 30.6 32.7 20.4 8.2
% PELL] 11 - 36.4 455 18.2 -
TENE 6 - 16.7 66.7 16.7 -
JRaE (HI5E-/NT -8R E) 27 11.1 33.3 29.6 25.9 -
@l -RIE-)—X 22 13.6 27.3 31.8 22.7 45
ZDMDHF—ER 21 9.5 19.0 57.1 14.3 -
LRSS DETE 3 - - 100.0 - -
4 | 5000 &Lk 60 15.0 25.0 31.7 23.3 5.0
# 4999~1000 % 67 9.0 31.3 43.3 14.9 15
8 999~300 & 63 7.9 27.0 39.7 23.8 1.6
B 00 e 51 7.8 294 333 235 5.9
5,000 &AL E 52 5.8 28.8 32.7 28.8 38
= 5,000 {8 F i~ 1,000 {E M 47 21.3 255 36.2 14.9 2.1
7 | 1,000 8K ~500 &M 23 - 435 30.4 26.1 =
M| 500 EMAKE~100 &M 65 1.7 24.6 44.6 185 46
& 100 {EARH~10 EH 44 13.6 25.0 36.4 20.5 45
10 B 10 = 40.0 40.0 20.0 -
Ex [ BE 162 11.7 29.6 36.4 17.9 4.3
B & | BRFEHICER 58 8.6 25.9 37.9 25.9 1.7
SLERIT R4 /Sler IZREE 58 12.1 29.3 36.2 19 34
1,000 M Ll E 10 10.0 20.0 50.0 10.0 10.0
2 1,000 {& 2K i# ~ 100 &M 27 14.8 18.5 37.0 25.9 3.7
& T | 100 BAXRE~10EA 39 5.1 333 38.5 20.5 2.6
P % 10 fEARE~1 {EH 70 12.9 22.9 40.0 22.9 1.4
BE T EERE~1.000 5@ 60 10.0 36.7 317 18.3 33
1,000 5 AR 26 7.7 26.9 423 19.2 38
SLA®HY 73 11.0 28.8 342 21.9 4.1
E FHIEEHY 33 15.2 21.2 42.4 18.2 3.0
=" aA> FENDHD 51 59 412 353 15.7 20
SELFTEN 84 95 22.6 39.3 25.0 36
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA

X4 (N) §§\< bf(b E?‘é_'aé:% %?L) i?fz<
LS LD WNZ ALY RECALY RELALY
ESES 241 24 68 90 51 8
BEWKEE-E 2 - - 2 - -
BERE 18 1 5 3 8 1
BEZE 78 11 24 29 12 2
Bh-ARKE 4 - - 1 3 -
ITH—ER-EE-ATAT 49 4 15 16 10 4
i%i e 11 - 4 5 2 -
TENE 6 - 1 4 1 -

Rl (EIFE - /N5E-RE) 27 3 9 8 7
£t RE-1)—X 22 3 6 7 5 1

ZDHDOY—E R 21 2 4 12 3
LRSS DETE 3 - - 3 - -
it 5000 & Ll E 60 9 15 19 14 3
= | 4999~1000 & 67 6 21 29 10 1
B | 999~300 & 63 5 17 25 15 1
e 300 & Kl 51 4 15 17 12 3
5,000 EMLLE 52 3 15 17 15 2
P 5,000 {& i ~ 1,000 &M 47 10 12 17 7 1
75 | 1,000 {8 FkKiE~500 8H 23 = 10 7 6 =
| 500 EAKE~100 {EMA 65 5 16 29 12 3
B HoomAxE~10EM 44 6 T 16 9 2
10 BEE X & 10 = 4 4 2 -
B BE 162 19 48 59 29 7
B &% | BRFEHICER 58 5 15 22 15 1
HSVERIT XA /Sler [ZEEE 58 7 17 21 11 2
1,000 {2 LL_E 10 1 2 5 1 1
2 1,000 {E 2K~ 100 {EF 27 4 5 10 7 1
&g T | 100 fBAHK#E~10 {8H 39 2 13 15 8 1
*Eﬁ 10 {BAKE~1 (&M 70 9 16 28 16 1
BE T EERE~1.000 5E 60 6 22 19 11 2
1,000 75 F K i 26 2 7 11 5 1
SLA®HY 73 8 21 25 16 3
:ﬁf EEEEHY 33 5 7 14 6 1
,;iﬁoA) FELHD 51 3 21 18 8 1
SHRELFZ TN 84 8 19 33 21 3
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39-8

RERBORLA (OIT HEDFHEALL /S EN IS TLRELY)

N=241(SA)
hEY £2<
iy BLELY mdmes
714 ~  04% B 174%
Ebhet

AL
27%

(BS{31: 9. SA)

FEEBORELA

X4 N) §§\< «bfb Efa_n‘ot{, aa;u i?f:<

LS LS WNZ AL RECALY RELCALY

21k 241 17.4 481 27.0 741 0.4
BEWKEE- - 2 - - 100.0 - -

B 18 16.7 333 38.9 11.1 -

BB 78 23.1 52.6 205 3.8 -
BH-HRKE 4 25.0 - - 75.0 -
ITH—EX-EE-ATAT 49 10.2 53.1 22.4 12.2 2.0

% PELL] 11 18.2 455 36.4 - -
TENE 6 16.7 50 33.3 - -

JRaE (HI5E-/NT -8R E) 27 14.8 59.3 25.9 - -

@l -RIE-)—X 22 273 455 18.2 9.1 -
ZDMDHF—ER 21 9.5 33.3 52.4 48 -
LRSS DETE 3 - 66.7 333 - -

4 | 5000 2Lt 60 23.3 38.3 30.0 8.3 -
# 4999~1000 & 67 17.9 43.3 328 6.0 -
8 999~300 % 63 15.9 58.7 20.6 48 -
E 300 & Kk 51 11.8 52.9 235 9.8 2.0
5,000 &M L1 E 52 17.3 40.4 32.7 9.6 -

= 5,000 {8 F i~ 1,000 {E M 47 29.8 51.1 14.9 43 -
7 | 1,000 8K ~500 &M 23 4.3 56.5 34.8 4.3 =
M| 500 EMAKE~100 &M 65 13.8 49.2 27.7 9.2 -
& 100 {EMRE~10 EH 44 205 47.7 273 2.3 2.3
10 B 10 - 50.0 30.0 20.0 -

E A BE 162 16.7 475 29.0 6.2 0.6
B &% | BRFEHICER 58 17.2 36.2 379 8.6 -
SLERIT R4S /Sler IZREE 58 20.7 48.3 24.1 5.2 1.7

1,000 M Ll E 10 20.0 10.0 60.0 10.0 -

2 1,000 {& 2K i# ~ 100 &M 27 29.6 40.7 18.5 11.1 -
& T | 100 fEMEKEH~10 {EM 39 17.9 46.2 25.6 10.3 -
fﬁﬁ 10 fEARE~1 {EH 70 17.1 48.6 30.0 43 -
BE T EERE~1.000 5@ 60 15.0 583 20.0 6.7 -
1,000 5 AR 26 11.5 46.2 30.8 1.7 38
SLAHY 73 16.4 37.0 35.6 11.0 -

E FHIEEHY 33 12.1 515 24.2 12.1 -
33’?0A) FENDHD 51 216 58.8 19.6 - -
SELFTEN 84 17.9 50.0 25.0 6.0 1.2
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA
R4 N) §§\< «bf(b t“v‘a_nat% &;?U i?f:<
LS LD WNZ ALY RECALY RELALY
214K 241 42 116 65 17 1
BEWKEE - 2 = = 2 = =
e 18 3 6 7 2 -
BB 78 18 41 16 3 -
EBH-HR-KE 4 1 - - 3 -
ITH—ER-EE-ATAT 49 5 26 11 6 1
% Ei 11 2 5 4 - -
TENE 6 1 3 2 - -
TRaE (HI5E-/NT -8R E) 27 4 16 7 - -
@l -RIE-)—X 22 6 10 4 2 -
FDMOY—ER 21 2 7 11 1 -
LRSS DETE 3 - 2 1 = =
it 5000 & kL 60 14 23 18 5 -
# 4999~1000 & 67 12 29 22 4 -
8 999~300 % 63 10 37 13 3 -
E 300 £ Kl 51 6 27 12 5 1
5,000 EMLLE 52 9 21 17 5 -
P 5,000 {8 F i~ 1,000 {E M 47 14 24 7 2 -
7 | 1,000 8K ~500 &M 23 1 13 8 1 =
B | 500 fEAKE~100 &M 65 9 32 18 6 -
& 100 EAXRH~10 {EH 44 9 21 12 1 1
10 B 10 = 5 3 2 -
@x | BE 162 27 77 47 10 1
B &% | BRFEHICER 58 10 21 22 5 -
SMERIT N4 /Sler IZREE 58 12 28 14 3 1
1,000 B LLE 10 2 1 6 1 -
2 1,000 & 2K i# ~ 100 &M 27 8 11 5 3 -
g T | 100 fBAX#E~10 &M 39 7 18 10 4 =
fﬁﬁ 10 (EAERAE~1 BM 70 12 34 21 3 -
BE T EmRE~1.000 5@ 60 9 35 12 4 -
1,000 /5 AR 26 3 12 8 2 1
SLAHY 73 12 27 26 8 -
5L | EERERY 33 2 17 8 2 .
%GA) FTEMNHD 51 11 30 10 - -
SHRBETEN 84 15 42 21 5 1
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39-9

REBHOECAQIT Y—ERIZHT I A—ILOIR DAL SO TLVEL)

N=241(SA)
2
L
D) mLmL mELE

12% 5 9.1%

PORELD
42.3%

14.1%

(BS{31: 9. SA)

FEEBORELA

X4 N) §§\< «bfb Efa_n‘ot{, %;L) i?f:<

LS LS WNZ AL RECALY RELCALY
214K 241 9.1 42.3 33.2 14.1 1.2
BEWKEE- - 2 - 50.0 - 50.0 -
B 18 1.1 22.2 44.4 22.2 -
BB 78 10.3 51.3 29.5 7.7 1.3
BH-HRKE 4 - - 25.0 50.0 25.0
ITH—EX-EE-ATAT 49 6.1 42.9 34.7 14.3 2.0
% PELL] 11 9.1 27.3 54.5 9.1 -
TENE 6 - 333 333 333 -
JRaE (HI5E-/NT -8R E) 27 11.1 55.6 25.9 7.4 -
@l -RIE-)—X 22 9.1 50.0 36.4 45 -
ZDMDHF—ER 21 14.3 19.0 333 333 -
LRSS DETE 3 - 333 333 333 -
4 | 5000 &Lk 60 10.0 38.3 35.0 13.3 33
# 4999~1000 & 67 45 35.8 41.8 17.9 -
8 999~300 % 63 14.3 47.6 28.6 9.5 -
E 300 & Kk 51 78 49.0 25.5 15.7 20
5,000 &M L1 E 52 3.8 42.3 36.5 135 38
P 5,000 {8 F i~ 1,000 {E M 47 12.8 383 31.9 17.0 -
7 | 1,000 8K ~500 &M 23 - 47.8 30.4 21.7 -
M| 500 EMAKE~100 &M 65 13.8 43.1 33.8 9.2 -
& 100 {EARH~10 EH 44 11.4 455 29.5 11.4 23
10 B 10 = 30.0 40.0 30.0 -
E A BE 162 9.3 438 32.1 14.2 0.6
B &% | BRFEHICER 58 5.2 37.9 39.7 13.8 3.4
SMERIT N4 /Sler IZREE 58 12.1 32.8 39.7 138 1.7
1,000 M Ll E 10 - 40.0 40.0 20.0 -
2 1,000 {& 2K i# ~ 100 &M 27 14.8 259 333 222 3.7
& T | 100 BAXRE~10EA 39 5.1 436 38.5 12.8 =
P % 10 fEARE~1 {EH 70 8.6 457 32.9 11.4 1.4
BE T EERE~1.000 5@ 60 1.7 417 36.7 100 =
1,000 5 AR 26 7.7 46.2 19.2 23.1 38
SLA®HY 73 8.2 342 37.0 17.8 2.7
E FHIEEHY 33 6.1 42.4 394 12.1 -
=" aA> FENDHD 51 9.8 51.0 314 7.8 -
SELFTEN 84 10.7 440 28.6 155 1.2
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[R#AR—X]

(BAfSL: 5. SA)

REEHEORLA
X4 (N) Eﬁ\( bf(b t“%_%é:% %?L) i*ff:(
LS LD WNZ ALY RECALY RELALY
214K 241 22 102 80 34 3
BEWKEE - 2 - 1 - 1 -
B 18 2 4 8 4 -
BiEE 78 8 40 23 6 1
BH-HRKE 4 - - 1 2 1
ITH—ER-EE-ATAT 49 3 21 17 7 1
% EE 11 1 3 6 1 -
TENE 6 - 2 2 2 -
TRaE (HI5E-/NT -8R E) 27 3 15 7 2 -
@l -RIE-)—X 22 2 11 8 1 -
FDMOY—ER 21 3 4 7 7 -
LRSS DETE 3 - 1 1 1 =
it 5000 & kL 60 6 23 21 8 2
= | 4999~1000 & 67 3 24 28 12 -
B | 999~300 & 63 9 30 18 6 -
E 300 £ Kl 51 4 25 13 8 1
5,000 {EM L E 52 2 22 19 7 2
= 5,000 {8 F i~ 1,000 {E M 47 6 18 15 8 -
7 | 1,000 8K ~500 &M 23 - 11 7 5 =
B | 500 fEAKE~100 &M 65 9 28 22 6 -
& 100 EAXRH~10 {EH 44 5 20 13 5 1
10 B 10 = 3 4 3 -
E A BE 162 15 71 52 23 1
B &% | BRFEHICER 58 3 22 23 8 2
SLERIT R4 /Sler IZREE 58 7 19 23 8 1
1,000 B LLE 10 - 4 4 2 -
2 1,000 & 2K i# ~ 100 &M 27 4 7 9 6 1
g T | 100 fBAX#E~10 &M 39 2 17 15 5 =
fﬁﬁ 10 (EAERAE~1 BM 70 6 32 23 8 1
BE T EmRE~1.000 5@ 60 7 25 22 6 -
1,000 /5 AR 26 2 12 5 6 1
SLAHY 73 6 25 27 13 2
5L | EERERY 33 2 14 13 2 n
%GA) FTEMNHD 51 5 26 16 4 -
SHRBETEN 84 9 37 24 13 1
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39-10 REREBORELA (OIT —ERIZHTHBEYEL NI (H—ERADBEIEKE)AHAGELY)

N=241(SA)
£<
L .
DF)  mimn BEBLE
LA _
— 1.2% 7.9%
14.1%

oy = PPECD

(BS{31: 9. SA)

FEEBORELA

X4 (N) §§\< bf(b E?‘é_"o}:% %?L) $?7:<

LS LS WNZ AL RECALY RELCALY

214K 241 7.9 40.2 36.5 14.1 1.2
BEWKEE- - 2 50.0 50.0 - = =

B 18 - 333 44.4 22.2 -

BB 78 11.5 50.0 30.8 7.7 -
BH-HRKE 4 - 25.0 25.0 25.0 25.0
ITH—EREEATA4T 49 8.2 38.8 26.5 245 2.0

% PELL] 11 9.1 36.4 54.5 - -
TENE 6 16.7 33.3 33.3 16.7 -

JRaE (HI5E-/NT -8R E) 27 - 44.4 481 7.4 -

@l -RIE-)—X 22 9.1 36.4 455 9.1 -
ZDMDHF—ER 21 48 19.0 42.9 28.6 48
LRSS DETE 3 - 33.3 66.7 - -

4 | 5000 2Lt 60 13.3 38.3 31.7 15.0 1.7
= | 4999~1000 & 67 45 38.8 38.8 17.9 -
B | 999~300 & 63 7.9 38.1 413 12.7 -
E 300 & k& 51 5.9 471 33.3 9.8 39
5,000 EMLLE 52 7.7 36.5 40.4 135 1.9

= 5,000 {8 F i~ 1,000 {E M 47 14.9 426 255 17.0 -
7 | 1,000 8K ~500 &M 23 - 435 39.1 174 =
M| 500 EMAKE~100 &M 65 46 385 40.0 16.9 -
& 100 {EMRE~10 EH 44 11.4 40.9 36.4 6.8 45
10 B 10 - 50.0 40.0 10.0 -

E A BE 162 8.0 40.7 33.3 16.7 1.2
B &% | BRFEHICER 58 8.6 37.9 37.9 13.8 1.7
SLERIT R4S /Sler IZREE 58 8.6 43.1 36.2 10.3 1.7

1,000 ML E 10 10.0 40.0 20.0 30.0 -

2 1,000 {& 2K i# ~ 100 &M 27 18.5 29.6 33.3 14.8 3.7
& T | 100 BAFRFE~101EA 39 2.6 43.6 43.6 10.3 -
fﬁﬁ 10 fEARE~1 {EH 70 10.0 31.4 414 17.1 -
BE T EERE~1.000 5@ 60 50 50.0 333 1.7 =
1,000 5 AR 26 38 46.2 26.9 15.4 7.7
SLAHY 73 9.6 37.0 315 205 1.4

E FHIEEHY 33 9.1 33.3 42.4 15.2 -
33’?0A) FENDHD 51 7.8 431 471 20 -
SELFTEN 84 6.0 440 32.1 15.5 24
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[R#AR—X]

(BAfSL: 5. SA)

REEHEORLA
X4 (N) Eﬁ\( bf(b &‘«5_5&, %?L) i*ff:(
LS LD WNZ ALY RECALY RELALY
EXL 241 19 97 88 34 3
BEWKEE - 2 1 1 - = =
B 18 6 8 4 -
BiEE 78 9 39 24 6 -
BH-HRKE 4 - 1 1 1 1
ITH—ER-EE-ATAT 49 4 19 13 12 1
% EE 11 1 4 6 - -
TENE 6 1 2 2 1 -
TRaE (HI5E-/NT -8R E) 27 - 12 13 2 -
@l -RIE-)—X 22 2 8 10 2 -
FDMOY—ER 21 1 4 9 6 1
LRSS DETE 3 - 1 2 = -
it 5000 & kL 60 8 23 19 9 1
= | 4999~1000 & 67 3 26 26 12 -
B | 999~300 & 63 5 24 26 8 -
E 300 £ Kl 51 3 24 17 5 2
5,000 &AL E 52 4 19 21 7 1
= 5,000 {8 F i~ 1,000 {E M 47 7 20 12 8 -
75 | 1,000 fEF R ~500 {EH 23 - 10 9 4 -
B | 500 fEAKE~100 &M 65 3 25 26 11
& 100 EAXRH~10 {EH 44 5 18 16 3 2
10 B 10 = 5 4 1 -
E A BE 162 13 66 54 27 2
B &% | BRFEHICER 58 5 22 22 8 1
SLERIT R4 /Sler IZREE 58 5 25 21 6 1
1,000 B LLE 10 1 4 2 3 -
2 1,000 & 2K i# ~ 100 &M 27 5 8 9 4 1
g T | 100 fBAX#E~10 &M 39 1 17 17 4 =
fﬁﬁ 10 (EAERAE~1 BM 70 7 22 29 12 -
BE T EmRE~1.000 5@ 60 3 30 20 7
1,000 /5 AR 26 1 12 7 4 2
SLAHY 73 7 27 23 15 1
:ﬁE FHIEEHY 33 3 11 14 5 -
%GA) FTEMNHD 51 4 22 24 1 -
SHRBETEN 84 5 37 27 13 2
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39-11 FEEBOBELA(MDY—ERDREPY—ERRHEEFAIODRTILO/INDIZHEERELS)
N=241(SA)
%<
DY mLnn BECE
RILIRV— gy = 104%
10.8%
(BS{31: 9. SA)
REEHEORLA
X4 (N) §§\< bf(b E?‘é_"ot% %?L) i?f:<
LS LS WNZ AL RECALY RELCALY
214K 241 10.4 40.2 38.2 10.8 0.4
BEWKEE- - 2 - 50.0 50.0 - -
B 18 - 44.4 55.6 - -
BB 78 12.8 37.2 423 7.7 -
BH-HRKE 4 - - 25.0 75.0 -
ITH—EX-EE-ATAT 49 14.3 36.7 28.6 18.4 20
% PELL] 11 9.1 63.6 273 - -
TENE 6 - 333 50.0 16.7 -
JRaE (HI5E-/NT -8R E) 27 74 63.0 25.9 3.7 -
@l -RIE-)—X 22 13.6 455 36.4 45 -
ZDMDHF—ER 21 9.5 23.8 42.9 2338 -
LRSS DETE 3 - - 100.0 - -
4 | 5000 2Lt 60 15.0 38.3 36.7 10.0 -
= | 4999~1000 & 67 6.0 46.3 41.8 6.0 -
B | 999~300 & 63 9.5 46 30.2 14.3 -
E 300 & Kk 51 11.8 215 451 13.7 20
5,000 {EM L E 52 9.6 36.5 442 9.6 -
= 5,000 {8 F i~ 1,000 {E M 47 10.6 51.1 31.9 6.4 -
7 | 1,000 8K ~500 &M 23 4.3 52.2 30.4 13.0 =
M| 500 EMAKE~100 &M 65 13.8 36.9 385 10.8 -
& 100 {EMRE~10 EH 44 9.1 34.1 36.4 18.2 2.3
10 B 10 10.0 30.0 60.0 - -
E A BE 162 11.1 37.7 38.3 12.3 0.6
B &% | BRFEHICER 58 6.9 36.2 50.0 6.9 -
SLERIT R4S /Sler IZREE 58 13.8 50.0 29.3 5.2 1.7
1,000 ML E 10 20.0 30.0 50.0 - -
2 1,000 {& 2K i# ~ 100 &M 27 18.5 29.6 37.0 14.8 -
& T | 100 BAFRFE~101EA 39 10.3 61.5 25.6 2.6 -
fﬁﬁ 10 fEARE~1 {EH 70 10.0 35.7 429 11.4 -
BE T EERE~1.000 5@ 60 8.3 400 36.7 150 =
1,000 5 AR 26 38 308 46.2 15.4 38
SLAHY 73 13.7 38.4 39.7 8.2 -
E FHIEEHY 33 15.2 36.4 42.4 6.1 -
3-‘3?5‘) FENDHD 51 9.8 52.9 29.4 78 -
SELFTEN 84 6.0 35.7 405 16.7 1.2
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA
X4 (N) Eﬁ\( bf(b t“?‘é_'aé:% %?L) i*ff:(
LS LD WNZ ALY RECALY RELALY
EXL 241 25 97 92 26 1
BEWKEE - 2 - 1 1 - -
B 18 - 8 10 - -
BB 78 10 29 33 6 -
BH-HRKE 4 - - 1 3 -
ITH—ER-EE-ATAT 49 7 18 14 9 1
% EE 11 1 7 3 - -
TENE 6 - 2 3 1 -
TRaE (HI5E-/NT -8R E) 27 2 17 7 1 -
@l -RIE-)—X 22 3 10 8 1 -
FDMOY—ER 21 2 5 9 5 -
LU DEFE 3 - - 3 - -
it 5000 & kL 60 9 23 22 6 -
= | 4999~1000 & 67 4 31 28 4 -
B | 999~300 & 63 6 29 19 9 -
E 300 £ Kl 51 6 14 23 7 1
5,000 EMLLE 52 5 19 23 5 -
= 5,000 {8 F i~ 1,000 {E M 47 5 24 15 3 -
7 | 1,000 8K ~500 &M 23 1 12 7 3 -
B | 500 fEAKE~100 &M 65 9 24 25 7 -
& 100 EAXRH~10 {EH 44 4 15 16 8 1
10 B 10 1 3 6 - -
E A BE 162 18 61 62 20 1
B & | BRFULICER 58 4 21 29 4 -
SLERIT R4 /Sler IZREE 58 8 29 17 3 1
1,000 ML E 10 2 3 5 - -
2 1,000 & 2K i# ~ 100 &M 27 5 8 10 4 -
g T | 100 fBAX#E~10 &M 39 4 24 10 1 =
fﬁﬁ 10 (EAERAE~1 BM 70 7 25 30 8 -
BE T EmRE~1.000 5@ 60 5 24 22 9 -
1,000 /5 AR 26 1 8 12 4 1
SLAHY 73 10 28 29 6 -
:ﬁE FHIEEHY 33 5 12 14 2 -
%GA) FTEMNHD 51 5 27 15 4 -
SHRBETEN 84 5 30 34 14 1
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39-12

RERHORLAQIT v—EAREE-FIAEMOIZ2A = —2aVBFRLTVD)

N=241(SA)
£<
HEY Sropy  BSKEELD
!@C@L\,@g’;‘;bf 7.1%

13.3%

PPRLSD
48.1%

(BS{31: 9. SA)

REEHEORLA

X4 (N) §§\< bf(b E?‘é_"o}:% %?L) i?f:<

LS LS WNZ AL RECALY RELCALY

214K 241 7.1 48.1 30.7 133 0.8
BEWKEE- - 2 - - 100.0 - -

B 18 5.6 50.0 27.8 16.7 -

BB 78 9.0 55.1 28.2 6.4 1.3
BH-HRKE 4 - 25.0 25.0 50.0 -
ITH—EX-EE-ATAT 49 8.2 44.9 22.4 22.4 2.0

% PELL] 11 9.1 54.5 273 9.1 -
TENE 6 - 333 50.0 16.7 -

JRaE (HI5E-/NT -8R E) 27 3.7 48.1 33.3 14.8 -

@l -RIE-)—X 22 9.1 54.5 31.8 45 -
ZDMDHF—ER 21 48 33.3 42.9 19.0 -
LRSS DETE 3 - 33.3 66.7 - -

4 | 5000 2Lt 60 8.3 58.3 20.0 13.3 -
= | 4999~1000 & 67 3.0 53.7 31.3 11.9 -
B | 999~300 & 63 14.3 34.9 349 14.3 1.6
E 300 & Kk 51 2.0 451 37.3 13.7 20
5,000 EMLLE 52 5.8 51.9 26.9 15.4 -

P 5,000 {8 F i~ 1,000 {E M 47 85 63.8 14.9 12.8 -
7 | 1,000 8K ~500 &M 23 4.3 435 30.4 174 43
M| 500 EMAKE~100 &M 65 9.2 385 40.0 12.3 -
& 100 {EMRE~10 EH 44 6.8 455 31.8 13.6 2.3
10 B 10 = 40.0 60.0 - -

E A BE 162 6.8 48.1 315 12.3 1.2
B &% | BRFEHICER 58 6.9 43.1 36.2 13.8 -
SLERIT R4S /Sler IZREE 58 8.6 53.4 24.1 12.1 1.7

1,000 ML E 10 10.0 30.0 40.0 20.0 -

2 1,000 {& 2K i# ~ 100 &M 27 18.5 40.7 22.2 185 -
& T | 100 BAXRE~10EA 39 7.7 615 23.1 7.7 =
fﬁﬁ 10 fEARE~1 {EH 70 43 54.3 214 20.0 -
BE T EERE~1.000 5@ 60 50 450 400 8.3 17
1,000 5 AR 26 38 34.6 46.2 115 38
SLAHY 73 11.0 452 30.1 13.7 -

E FHIEEHY 33 12.1 545 24.2 9.1 -
3-‘3?5‘) FENDHD 51 39 54.9 29.4 118 -
SELFTEN 84 36 44.0 345 15.5 2.4
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[R#AR—X]

(BAfSL: 5. SA)

FEEBORELA
X4 (N) Eﬁ\( bf(b t“%_%é:% %?L) i*ff:(
LS LD WNZ ALY RECALY RELALY
214K 241 17 116 74 32 2
BEWKEE - 2 = = 2 = =
e 18 1 9 5 3 -
BiEE 78 7 43 22 5 1
BH-HRKE 4 - 1 1 2 -
ITH—ER-EE-ATAT 49 4 22 11 11 1
% Ei 11 1 6 3 1 -
TENE 6 - 2 3 1 -
TRaE (HI5E-/NT -8R E) 27 1 13 9 4 -
@l -RIE-)—X 22 2 12 7 1 -
FDMOY—ER 21 1 7 9 4 -
LRSS DETE 3 - 1 2 = =
it 5000 & kL 60 5 35 12 8 -
= | 4999~1000 & 67 2 36 21 8 -
B | 999~300 & 63 9 22 22 9 1
E 300 £ Kl 51 1 23 19 7 1
5,000 &AL E 52 3 27 14 8 -
P 5,000 {8 F i~ 1,000 {E M 47 4 30 7 6 -
7 | 1,000 8K ~500 &M 23 1 10 7 4 1
B | 500 fEAKE~100 &M 65 6 25 26 8 -
& 100 EAXRH~10 {EH 44 3 20 14 6 1
10 B 10 - 4 6 - -
@x | BE 162 11 78 51 20 2
B & | BRFULICER 58 4 25 21 8 -
SLERIT R4 /Sler IZREE 58 5 31 14 7 1
1,000 B LLE 10 1 3 4 2 -
2 1,000 & 2K i# ~ 100 &M 27 5 11 6 5 -
g T | 100 fBAX#E~10 &M 39 3 24 9 3 =
fﬁﬁ 10 (EAERAE~1 BM 70 3 38 15 14 -
BE T EmRE~1.000 5@ 60 3 27 24 5 1
1,000 /5 AR 26 1 9 12 3 1
SLAHY 73 8 33 22 10 -
5L | EERERY 33 4 18 8 3 .
%GA) FELHD 51 2 28 15 6 -
SHRBETEN 84 3 37 29 13 2
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REEROBRLA QT Y—ERREE -FAEFHTOZMDMLESISREERELD)

N=241(SA)
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HEY LA 9.5%
RELGEL— o8y
17.8%
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(BS{31: 9. SA)

FEEBORELA

X4 N) §§\< «bfb Efa_n‘ot{, %;L) i?f:<

LS LS WNZ AL RECALY RELCALY
214K 241 95 27.8 44.0 17.8 0.8
BEWKEE- - 2 - 50.0 50.0 - -
B 18 5.6 38.9 22.2 33.3 -
BB 78 15.4 244 474 12.8 -
BH-HRKE 4 - 25.0 25.0 50.0 -
ITH—EX-EE-ATAT 49 12.2 26.5 34.7 22.4 4.1
% PELL] 11 - 18.2 63.6 18.2 -
TENE 6 - 16.7 66.7 16.7 -
JRaE (HI5E-/NT -8R E) 27 3.7 40.7 33.3 22.2 -
@l -RIE-)—X 22 45 31.8 59.1 45 -
ZDMDHF—ER 21 48 19.0 57.1 19.0 -
LRSS DETE 3 333 33.3 333 - -
4 | 5000 2Lt 60 18.3 43.3 28.3 10.0 -
# 4999~1000 & 67 9.0 26.9 49.3 14.9 -
8 999~300 & 63 7.9 22.2 46.0 22.2 1.6
E 300 & Kk 51 2.0 17.6 52.9 25.5 20
5,000 &M L1 E 52 13.5 40.4 32.7 135 -
P 5,000 {8 F i~ 1,000 {E M 47 17.0 34.0 38.3 10.6 -
7 | 1,000 8K ~500 &M 23 - 34.8 39.1 26.1 =
M| 500 EMAKE~100 &M 65 6.2 20.0 49.2 24.6 -
& 100 {EARH~10 EH 44 9.1 15.9 52.3 18.2 45
10 B 10 = 20.0 70.0 10.0 -
E A BE 162 9.9 24.1 46.9 17.9 1.2
B &% | BRFEHICER 58 6.9 31.0 448 17.2 -
SLERIT R4S /Sler IZREE 58 13.8 414 29.3 138 1.7
1,000 M Ll E 10 10.0 40.0 40.0 10.0 -
2 1,000 {& 2K i# ~ 100 &M 27 25.9 259 25.9 222 -
& T | 100 BAXRE~10EA 39 5.1 385 46.2 10.3 =
P % 10 fEARE~1 {EH 70 10.0 32.9 38.6 18.6 -
BE T EERE~1.000 5@ 60 8.3 200 483 217 17
1,000 5 AR 26 - 19.2 57.7 19.2 38
SLA®HY 73 13.7 342 37.0 15.1 -
E FHIEEHY 33 12.1 42.4 394 6.1 -
=" aA> FENDHD 51 7.8 314 451 15.7 -
SELFTEN 84 6.0 14.3 51.2 26.2 24
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[R#AR—X]

(BAfSL: 5. SA)

REEHEORLA

X4 (N) §§\< bf(b t“%_%é:% %?L) i*ff:(
LS LD WNZ ALY RECALY RELALY
EXL 241 23 67 106 43 2
BEWKEE - 2 - 1 1 - -
B 18 1 7 4 6 -
BiEE 78 12 19 37 10 -
BH-HRKE 4 - 1 1 2 -
ITH—ER-EE-ATAT 49 6 13 17 11 2
% EE 11 - 2 7 2 -
TENE 6 - 1 4 1 -
TRaE (HI5E-/NT -8R E) 27 1 11 9 6 -
@l -RIE-)—X 22 1 7 13 1 -
FDMOY—ER 21 1 4 12 4 -
LU DEFE 3 1 1 1 = =
it 5000 & kL 60 11 26 17 6 -
= | 4999~1000 & 67 6 18 33 10 -
B | 999~300 & 63 5 14 29 14 1
E 300 £ Kl 51 1 9 27 13 1
5,000 EMLLE 52 7 21 17 7 -
= 5,000 {8 F i~ 1,000 {E M 47 8 16 18 5 -
75 | 1,000 fEF R ~500 {EH 23 = 8 9 6 -

B | 500 fEAKE~100 &M 65 4 13 32 16
& 100 EAXRH~10 {EH 44 4 7 23 8 2
10 B 10 = 2 7 1 -
E A BE 162 16 39 76 29 2
B &% | BRFEHICER 58 4 18 26 10 -
SLERIT R4 /Sler IZREE 58 8 24 17 8 1
1,000 B LLE 10 1 4 4 1 -
2 1,000 & 2K i# ~ 100 &M 27 7 7 7 6 -
g T | 100 fBAX#E~10 &M 39 2 15 18 4 =
fﬁﬁ 10 (EAERAE~1 BM 70 7 23 27 13 -
BE T EmRE~1.000 5@ 60 5 12 29 13 1
1,000 /5 AR 26 = 5 15 5 1
SLAHY 73 10 25 27 11 -
5L | EERERY 33 4 14 13 2 .
%GA) FTEMNHD 51 4 16 23 8 -
SHRBETEN 84 5 12 43 22 2
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40. BB ATLBEROET AVFIRAREFREISRI-BRLLIZSOWNT)

(%)
FROZATLIEE (N=227, k=15) RTFERE(BMECATLOMBFERER] (N=227, k=15)
Sw HW YIrHLT N—RHz7 MEEI AT it Zoit
e FEs Z D _ _ (N=201, 5&\-41) (N=200, 5&\-42) AEE
(N=191) | (N=185) (N=157) SW{EH | SWRSF | HW{EH | HW {R=F &R=F EFA &R=F EA (N=192)
(k=51) (%=57) (%=70) (N=204) | (N=210) | (N=210) | (N=209) | (N=167) | (N=172) | (N=136) | (N=142) (5=50)
(X=38) (%=32) (X=32) (R=33) | (R-41=34) | (R-54=29) | (K-4}=64) | (FK-5}=58)

BMKEE-LE 65.0 325 29.3 33 350 7.0 0.0 8.8 105 0.0 0.0 0.0 0.0 838
e 38.1 13.3 22.3 24 61.9 9.3 9.7 11.9 11.8 34 5.9 34 3.6 28
BEE 28.1 148 10.8 24 71.9 11.1 10.0 14.8 8.9 49 6.7 40 43 7.2
BH-HR-KE 175 1.4 5.3 0.9 82.5 8.3 10.3 8.3 24.8 46 5.7 13.0 7.6 0
g | THY—ER-BE-ATA47 378 21.8 145 15 62.2 85 95 8.9 10.0 5.1 8.7 3.2 4.4 40
g | B 50.6 29.1 18.0 35 49.4 7.8 12.9 6.4 5.7 1.6 5.7 3.7 2.5 3.1
B FeE 125 6.3 5.8 05 87.5 11.6 12.0 214 143 2.7 5.4 38 5.0 11.4
FRiE (EI5E-/N5E-ERE) 29.9 16.3 12.2 1.4 70.1 13.2 11.1 12.6 11.2 3.3 7.0 2.3 3.2 6.0
Eh-RIE-)—X 33.1 20.4 8.7 39 66.9 9.0 11.8 8.8 10.4 38 438 15 7.6 3.2
ZDDHY—ER 383 18.8 135 6.0 61.9% 7.0 13.6 8.3 9.3 6.7 7.7 35 2.7 3.1
LEUSNDETE 0.0 0.0 0.0 0.0 100.0 5.7 15.0 43 16.7 46 13.7 75 2.5 30.0
;| 1,000 {EFELE 56.6 40.2 14.8 1.6 434 6.5 10.0 8.9 5.2 1.7 1.6 29 44 22
T | 1,000 fEM K&~ 100 fEM 39.0 22.9 12.8 32 61.0 6.6 12.7 6.6 11.8 4.1 5.4 40 5.0 47
g 100 {EAXKFH~10 {EM 355 23.1 9.9 24 64.5 9.9 136 8.4 10.3 3.1 47 5.7 5.2 35
i | 10{BAXRE~1 EH 335 18.2 13.1 2.1 66.5 114 9.9 115 9.2 40 6.0 42 48 55
B [ 1 {EA%XH~1000 5H 30.2 142 13.2 28 69.8 10.1 95 12.7 9.7 6.1 104 30 26 5.6
Zl 1,000 Bk 17.2 45 105 23 82.8 8.4 9.2 18.9 14.0 5.2 10.8 32 3.9 9.2
2REHIE 28.6 15.2 11.3 2.1 7.4 9.4 12.0 10.7 12.1 4.1 7.2 5.0 45 6.4
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ESxrRATOADREL 26.6
ITEREDRL 22
HR5E - v — #EEDR1E 124
TEaR+BIARD A 108
Y—ERDME L 95
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i oA) FENBDD 50 6 9 6 18 7 4 3 14
SHBEITN 84 5 4 2 24 6 5 1 49
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47-2(A).

E $opE i {ORTitit JE IS

N=241(MA)
KPI 253
ROI 26.1
BEEHRE 212
A—FHEE 444
REAIHMONRERE 216
ROFT—Y 228
0t 06
SEfEIT AL : . . : : 28.2I | |
0 5 10 15 20 25 30 35 40 45 (%)
(B3I %, MA)

K R ] a1 1 . 54 =

e Q % L | B#t | Z D ff

ol i B | 1T

B i & 5 H

E 7

(N) Ly
21K 241 25.3 26.1 21.2 444 21.6 22.8 6.6 28.2
BMUKERE- L% 2 50.0 50.0 50.0 50.0 50.0 50.0 50.0 50.0
e 18 11.1 5.6 11.1 38.9 27.8 22.2 - 27.8
BEXE 78 28.2 21.8 23.1 385 16.7 23.1 7.7 30.8
BH-HRKE 4 50.0 25.0 25.0 75.0 25.0 25.0 25.0 25.0
ITH—EREIEATAT 49 245 32.7 18.4 46.9 224 20.4 8.2 26.5
i%i B 11 18.2 27.3 273 63.6 18.2 9.1 9.1 9.1
TENE 6 - 333 - 33.3 - - - 33.3
FiE (EI5E-/N5E- R E) 27 185 29.6 185 55.6 33.3 29.6 7.4 22.2
- RIE-1)—X 22 36.4 36.4 31.8 455 27.3 31.8 4.5 31.8
ZFDMDY—E R 21 33.3 28.6 23.8 42.9 19.0 23.8 - 23.8
LS DETE 3 - - - - - - - 100.0
it 5000 £ LIk 60 55.0 46.7 40.0 48.3 31.7 43.3 20.0 15.0
# 4999~ 1000 % 67 20.9 37.3 19.4 44.8 23.9 17.9 45 20.9
8 999~300 % 63 14.3 1.1 20.6 444 17.5 19.0 1.6 33.3
e 300 4 K 51 9.8 5.9 2.0 39.2 11.8 938 - 471
5,000 {EM L E 52 50.0 50.0 385 48.1 36.5 40.4 19.2 17.3
& [ 5000 EM ki ~1,000 EM 46 304 32.6 32.6 52.2 30.4 28.3 2.2 15.2
] 1,000 {& 2K i ~500 {EH 24 20.8 25.0 12.5 375 16.7 8.3 4.2 29.2
i 500 {&E MR~ 100 &M 65 13.8 16.9 15.4 49.2 16.9 23.1 6.2 26.2
= 100 {EMRFH~10 {EM 44 13.6 6.8 45 29.5 6.8 6.8 - 52.3
10 B R 10 10.0 20.0 10.0 40.0 10.0 10.0 - 50.0
Ex BE 163 22.7 215 20.2 44.2 17.8 22.1 49 294
A& | ERFSHICER 58 50.0 51.7 39.7 56.9 39.7 36.2 17.2 138
SNERIT RS /Sler [ZHREE 57 28.1 33.3 24.6 43.9 26.3 24.6 7.0 33.3
1,000 EMA LI E 10 70.0 90.0 90.0 90.0 70.0 50.0 50.0 10.0
2 1,000 & 5%~ 100 &M 27 51.9 37.0 22.2 444 37.0 33.3 7.4 18.5
& T | 100 EAXRE~10{EM 39 30.8 28.2 28.2 385 205 17.9 7.7 25.6
b3} % 10 {EARE~1 {EH 70 21.4 32.9 18.6 429 17.1 27.1 43 214
"= 1 MR ~1,000 AH 60 15.0 11.7 133 51.7 15.0 15.0 33 35.0
1,000 Bk 26 38 - 38 26.9 7.7 7.7 - 57.7
SLAHY 73 49.3 479 35.6 52.1 32.9 34.2 16.4 15.1
) E EEEEHY 33 424 455 36.4 51.5 33.3 36.4 6.1 15.2
" oA) FEHNHD 50 14.0 18.0 14.0 52.0 24.0 22.0 20 20.0
SHRLETEL 85 47 47 7.1 30.6 5.9 8.2 1.2 49.4
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[(R#A—2A]

(B3 : 4. MA)

K R L] 1 1= x z

P ? z L | B#& | Z B f

X% ] A & fal Z 1t %

z i R & | 7

£ = FE P4 5 e)

= 7

(N) LY

EZ 241 61 63 51 107 52 55 16 68
BEMKEE-hE 2 1 1 1 1 1 1 1 1

EEE 18 2 1 2 7 5 4 - 5

HEX 78 22 17 18 30 13 18 6 24
BH-HR-KE 4 2 1 1 3 1 1 1 1
ITH—ERX-@E-ATAT 49 12 16 9 23 11 10 4 13

#%E EE 11 2 3 3 7 2 1 1 1
TEIE 6 - 2 - 2 - - - 2

JRiE (EI5E - /N5E - R E) 27 5 8 5 15 9 8 2 6

- RIE-1)—X 22 8 8 7 10 6 7 1 7
ZDDY—EX 21 7 6 5 9 4 5 - 5

LU DEE 3 = - - - - - - 3

it 5000 % LAk 60 33 28 24 29 19 26 12 9
£ 4999~ 1000 % 67 14 25 13 30 16 12 3 14
8 999~300 % 63 9 7 13 28 11 12 1 21
e 300 & K 51 5 3 1 20 6 5 - 24
5,000 B L E 52 26 26 20 25 19 21 10 9

s 5,000 {& MK i ~ 1,000 {2 M 46 14 15 15 24 14 13 1 7
7 | 1,000 fEFMRiHE~500 fEFH | 24 5 6 3 9 4 2 1 7
5 500 {EFRi#~100 {EH 65 9 11 10 32 11 15 4 17
® 100 EARFE~10 {EM 44 6 3 2 13 3 3 23
10 EFXR 10 1 2 1 4 1 1 - 5

B BE 163 37 35 33 72 29 36 8 48
H % | BRFSHICRTE 58 29 30 23 33 23 21 10 8
NERITRUA /Sler [ZEREE | 57 16 19 14 25 15 14 4 19

1,000 fEM L E 10 7 9 9 9 7 5 5 1

2 1 1,000 {EFKi#~ 100 {EH 27 14 10 6 12 10 9 2 5
& T | 100 fBAKHE~10{8M 39 12 11 11 15 8 7 3 10
%E% 10 EAXE~11EM 70 15 23 13 30 12 19 3 15
LR 1 M Ri#~1,000 FH 60 9 7 8 31 9 9 2 21
1,000 B HE#H 26 1 - 1 7 2 2 - 15
SLAHY 73 36 35 26 38 24 25 12 11

5 E EEEEHY 33 14 15 12 17 11 12 2 5
i3 oA) FTENDD 50 7 9 7 26 12 11 1 10
SHBEITN 85 4 4 6 26 5 7 1 42
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47-2(B). EHhERITEOFHMIEIE(FRETFMEF)
N=241(MA)
KPI 17
ROI 17
EEERE 187
1—HRE 49
IR DY RS R 158
ROFT—Y 124
Z0ff—33
I ZEATH AL : : : 3.9‘8
5 10 15 25 30 35 40 45 (%)
(B3I %, MA)
K R ] a1 1 . 54 =
e Q % L | B#t | Z D ff
o i 2 8 | 1T
B i & 5 H
E 7
(N) L
21K 241 17.0 17.0 18.7 419 15.8 12.4 33 39.8
BMUKERE- L% 2 = = = = = = = 100
e 18 11.1 5.6 11.1 33.3 16.7 16.7 - 38.9
BEXE 78 16.7 14.1 20.5 39.7 12.8 9.0 38 385
BH-HR-KE 4 50.0 25.0 25.0 75.0 25.0 25.0 25.0 25.0
ITH—EREIEATAT 49 14.3 18.4 22.4 51.0 14.3 8.2 6.1 36.7
%E B 11 - 27.3 18.2 18.2 18.2 - - 455
TENE 6 - 16.7 - 333 - - - 50.0
FiE (EI5E-/N5E- R E) 27 14.8 22.2 11.1 48.1 22.2 22.2 3.7 33.3
- RIE-1)—X 22 36.4 27.3 27.3 40.9 27.3 22.7 - 455
ZFDMDY—E R 21 23.8 14.3 19.0 47.6 14.3 19.0 - 38.1
LS DETE 3 - - - - - - - 100
it 5000 & Ll E 60 38.3 28.3 30.0 38.3 23.3 21.7 1.7 30.0
# 4999~ 1000 % 67 16.4 23.9 17.9 448 14.9 10.4 - 35.8
8 999~300 % 63 9.5 9.5 22.2 444 17.5 1.1 1.6 39.7
e 300 & ki 51 2.0 3.9 2.0 39.2 5.9 5.9 - 56.9
5,000 fEF UL E 52 32.7 28.8 30.8 36.5 26.9 23.1 11.5 34.6
& [ 5000 M Ri#~1,000 {ZM 46 28.3 26.1 28.3 52.2 23.9 17.4 - 26.1
] 1,000 {8 F &% ~ 500 €M 24 16.7 20.8 8.3 29.2 8.3 42 42 41.7
R 500 {8 R i#~100 &M 65 6.2 7.1 13.8 50.8 13.8 10.8 1.5 385
= 100 {EMRFH~10 {EM 44 6.8 6.8 9.1 34.1 45 45 - 56.8
10 B R 10 - 10.0 10.0 30.0 - - - 60.0
Ex BE 163 16.0 135 17.8 436 135 11.0 18 39.9
A& | FRFSHICER 58 31.0 328 31.0 414 259 224 103 328
SERIT AN A /Sler IZEEE 57 19.3 175 22.8 456 15.8 14.0 5.3 38.6
1,000 EMA LI E 10 50.0 50.0 60.0 50.0 40.0 30.0 30.0 30.0
2 1,000 & 5%~ 100 &M 27 37.0 25.9 22.2 481 29.6 22.2 7.4 29.6
& T | 100 EAXRE~10{EM 39 205 23.1 23.1 308 20.5 7.7 - 41.0
b3} % 10 {EARE~1 {EH 70 18.6 20.0 17.1 45.7 114 15.7 29 314
"= 1 MR ~1,000 AH 60 5.0 8.3 133 46.7 11.7 6.7 1.7 45.0
1,000 5 AR5 26 - - 38 308 338 38 - 65.4
SLAHY 73 37.0 315 28.8 43.8 21.9 17.8 9.6 315
P E EREEHY 33 24.2 30.3 333 424 24.2 242 - 273
" oA) FEHNHD 50 8.0 12.0 16.0 52.0 24.0 12.0 - 28.0
SERLEITED 85 2.4 2.4 5.9 34.1 2.4 35 1.2 58.8
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[(R#A—2A]

(B3 : 4. MA)

K R L] 1 1= x z

P @ z L | B#& | Z B f

X4 i z i Z i %

z i R & | 7

£ = FE P4 5 e)

= 7

(N) LY

21K 241 41 41 45 101 38 30 8 96
BEMKER- i 2 = - - - - - - 2

EEE 18 2 1 2 6 3 3 - 7

HEX 78 13 11 16 31 10 7 3 30
BH-HR-KE 4 2 1 1 3 1 1 1 1
ITH—ERX-@E-ATAT 49 7 9 11 25 7 4 3 18

#%E EE 11 - 3 2 2 2 - - 5
TENE 6 - 1 2 - - - 3

JRiE (EI5E - /N5E - R E) 27 4 6 3 13 6 6 1 9

- RIE-1)—X 22 8 6 6 9 6 5 - 10
ZDMDY—ER 21 5 3 4 10 3 4 - 8

LU DEE 3 = - - - - - - 3

it 5000 % LAk 60 23 17 18 23 14 13 7 18
£ 4999~ 1000 £ 67 11 16 12 30 10 7 - 24
8 999~300 % 63 6 6 14 28 11 7 1 25
e 300 & K 51 1 2 1 20 3 3 - 29
5,000 B L E 52 17 15 16 19 14 12 6 18

s 5,000 {& MK i ~ 1,000 {2 M 46 13 12 13 24 11 8 - 12
7 | 1,000 fEFMRiHE~500 fEFH | 24 4 5 2 7 2 1 1 10
i 500 {EFRi#~100 {EH 65 4 5 9 33 9 7 1 25
® 100 EARFE~10 {EM 44 3 3 4 15 2 2 - 25
10 EFXR 10 — 1 1 3 - - - 6

B BE 163 26 22 29 71 22 18 3 65
B &% | BRFEHICER 58 18 19 18 24 15 13 6 19
SNERIT RS /Sler [ZEREE | 57 11 10 13 26 9 8 3 22

1,000 EMA LI E 10 5 5 6 5 4 3 3 3

% | [1.000 {EARE~100 EM 27 10 7 6 13 8 6 2 8
& T | 100 fBAKHE~10{8M 39 8 9 9 12 8 3 = 16
%E% 10 EAXE~11EM 70 13 14 12 32 8 1 2 22
LR 1 M Ri#~1,000 FH 60 3 5 8 28 7 4 1 27
1,000 75 K i 26 - - 1 8 1 1 - 17
SLAHY 73 27 23 21 32 16 13 7 23

5 E EEEEHY 33 8 10 11 14 8 8 - 9
i3 oA) TENHD 50 4 6 8 26 12 6 - 14
SHBEITN 85 2 2 5 29 2 3 1 50
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47-3(A). FELHIKE I E OISR (S AT

N=241(MA)
KPI 286
ROI 30.7
BEEERE 253
1-YHRE 319
REESMONEERE 195
NUFI—Y 237
0t o
FHEEITHAEL . . . : : : 32.8 o
0 5 10 15 20 25 30 35 (%)
(B3I %, MA)

K R ] a1 1 . 54 =

it ? x5 L B2 | D fi

X4 bl R ol 2 fth %

o i 2 8 | 1T

B i & 5 H

E 7

(N) Ly
21K 241 28.6 30.7 25.3 315 19.5 23.7 9.1 3238
BMUKERE- L% 2 50.0 50.0 50.0 50.0 50.0 50.0 50.0 50.0
e 18 11.1 16.7 16.7 27.8 16.7 16.7 - 444
BEXE 78 29.5 23.1 23.1 25.6 15.4 21.8 7.7 37.2
BH-HRKE 4 25.0 50.0 25.0 50.0 25.0 25.0 25.0 50.0
ITH—EREIEATAT 49 30.6 34.7 245 36.7 22.4 18.4 10.2 32.7

i%i B 11 27.3 27.3 273 18.2 18.2 273 18.2 9.1
TENE 6 - 33.3 - 16.7 - 16.7 - 33.3
FiE (EI5E-/N5E- R E) 27 22.2 40.7 25.9 40.7 25.9 333 11.1 25.9
- RIE-1)—X 22 50.0 455 40.9 455 22.7 40.9 13.6 27.3
ZFDMDY—E R 21 333 33.3 333 28.6 23.8 19.0 48 19.0
LS DETE 3 - - - - - - - 100.0
it 5000 £ LAk 60 55 48.3 40.0 43.3 35.0 40.0 233 18.3
# 4999~ 1000 % 67 31.3 35.8 25.4 32.8 19.4 20.9 7.5 25.4
8 999~300 % 63 15.9 25.4 27.0 30.2 14.3 20.6 3.2 36.5
e 300 & ki 51 9.8 9.8 59 17.6 7.8 11.8 20 54.9
5,000 fEF UL E 52 55.8 55.8 42.3 481 36.5 36.5 21.2 17.3
& [ 5000 M Ri#~1,000 {ZM 46 30.4 28.3 348 37.0 19.6 30.4 8.7 21.7
] 1,000 {8 F &% ~ 500 €M 24 29.2 333 20.8 375 16.7 8.3 - 29.2
i 500 {&E MR~ 100 &M 65 16.9 29.2 23.1 24.6 13.8 27.7 9.2 33.8
= 100 {EMRFH~10 {EM 44 15.9 45 45 15.9 9.1 45 23 59.1
10 B R 10 10.0 30.0 10.0 20.0 20.0 20.0 - 50.0
Ex BE 163 25.2 27.0 233 294 16.0 233 8.0 35.0
A& | FRFSHICER 58 51.7 48.3 46.6 46.6 39.7 32.8 224 190
SNERIT RS /Sler IZEREE 57 36.8 38.6 29.8 42.1 29.8 175 10.5 29.8
1,000 EMA LI E 10 70.0 80.0 90.0 90.0 90.0 50.0 50.0 10.0

2 1,000 & 5%~ 100 &M 27 59.3 481 40.7 51.9 37.0 33.3 14.8 11.1
& T | 100 EAXRE~10{EM 39 333 35.9 25.6 25.6 15.4 23.1 12.8 25.6
b3} % 10 {EARE~1 {EH 70 28.6 35.7 18.6 27.1 114 28.6 5.7 30.0
"= 1 MR ~1,000 AH 60 11.7 13.3 16.7 31.7 16.7 15.0 33 433
1,000 Bk 26 38 1.7 115 7.7 3.8 38 38 65.4
SLAHY 73 53.4 49.3 41.1 479 34.2 315 21.9 15.1
5 E EHEEEHY 33 424 51.5 36.4 424 36.4 424 9.1 18.2
" oA) FEHNHD 50 20.0 30.0 22.0 24.0 10.0 24.0 40 28.0
SERLEITED 85 7.1 71 9.4 17.6 5.9 9.4 1.2 56.5
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[(R#A—2A]

(B3 : 4. MA)

K R L] 1 1= x z

P ? z L | B#& | Z B f

X% ] A & fal Z 1t %

Z i T § | 7

£ = FE P4 5 e)

= 7

(N) LY

EZ 241 69 74 61 76 47 57 22 79
BEMKEE-hE 2 1 1 1 1 1 1 1 1

EEE 18 2 3 3 5 3 3 - 8

HEX 78 23 18 18 20 12 17 6 29
BH-HR-KE 4 1 2 1 2 1 1 1 2
ITH—ERX-@E-ATAT 49 15 17 12 18 11 9 5 16

#%E EE 11 3 3 3 2 2 3 2 1
TEIE 6 - 2 - 1 - 1 - 2

JRiE (EI5E - /N5E - R E) 27 6 11 7 11 7 9 3 7

- RIE-1)—X 22 11 10 9 10 5 9 3 6
ZDMDY—ER 21 7 7 7 6 5 4 1 4

LU DEE 3 = - - - - - 3

it 5000 % LAk 60 33 29 24 26 21 24 14 11
£ 4999~ 1000 % 67 21 24 17 22 13 14 5 17
8 999~300 % 63 10 16 17 19 9 13 2 23
e 300 & K 51 5 5 3 9 4 6 1 28
5,000 B L E 52 29 29 22 25 19 19 11 9

s 5,000 {& MK i ~ 1,000 {2 M 46 14 13 16 17 9 14 4 10
7 | 1,000 fEFMRiHE~500 fEFH | 24 7 8 5 9 4 2 |- 7
5 500 {EFRi#~100 {EH 65 11 19 15 16 9 18 6 22
® 100 EARFE~10 {EM 44 7 2 2 7 4 2 1 26
10 EFXR 10 1 3 1 2 2 2 - 5

B BE 163 41 44 38 48 26 38 13 57
H % | BRFSHICRTE 58 30 28 27 27 23 19 13 11
NERITRUA /Sler [ZEREE | 57 21 22 17 24 17 10 6 17

1,000 EMA LI E 10 7 8 9 9 9 5 5 1

2 1 1,000 {EFKi#~ 100 {EH 27 16 13 11 14 10 9 4 3
& T | 100 fBAKHE~10{8M 39 13 14 10 10 6 9 5 10
%E% 10 EAXE~11EM 70 20 25 13 19 8 20 4 21
LR 1 M Ri#~1,000 FH 60 7 8 10 19 10 9 2 26
1,000 75 K i 26 1 2 3 2 1 1 1 17
SLAHY 73 39 36 30 35 25 23 16 11

V= E EEEEHY 33 14 17 12 14 12 14 3 6
i oA) FENBDD 50 10 15 1 12 5 12 2 14
SHBEITN 85 6 6 8 15 5 8 1 48
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47-3(B). s LB & OFFIE R (R @)
N=241(MA)
KPI
ROI 228
EEERE 224
A—HERE 28.6
IREAIRPI D R R 129
RUFT—Y 12.9
04t 46
SHEZEAT L : : . : : : 41-97
0 5 10 15 20 25 30 35 40 45 (%)
(B3I %, MA)
K R ] a1 1 . 54 =
it ? x5 L B2 | D fi
X4 bl R ol 2 fth %
o i 2 8 | 1T
B i & 5 H
E 7
(N) Ly
21K 241 19.9 22.8 22.4 28.6 12.9 12.9 46 419
BMUKERE- L% 2 - - - - - - - 100.0
e 18 11.1 16.7 16.7 27.8 11.1 11.1 - 444
BEXE 78 19.2 17.9 21.8 23.1 10.3 10.3 38 42.3
BH-HRKE 4 25.0 50.0 25.0 50.0 25.0 25.0 25.0 50.0
ITH—ER-EE-ATAT 49 16.3 20.4 245 388 12.2 4.1 6.1 38.8
fr%i B 11 18.2 9.1 9.1 - 9.1 18.2 - 455
TENE 6 - 16.7 16.7 - - 16.7 - 50.0
FiE (EI5E-/N5E- R E) 27 11.1 33.3 185 33.3 18.5 185 74 37.0
- RIE-1)—X 22 50.0 40.9 36.4 40.9 18.2 31.8 45 455
ZFDMDY—E R 21 28.6 28.6 28.6 33.3 19.0 14.3 48 28.6
LS DETE 3 - - - - - - - 100
it 5000 & Ll E 60 36.7 36.7 28.3 31.7 21.7 20 13.3 333
# 4999~ 1000 % 67 26.9 25.4 22.4 35.8 13.4 13.4 3.0 343
8 999~300 % 63 1.1 20.6 27.0 28.6 1.1 9.5 - 42.9
e 300 & ki 51 20 5.9 0.8 15.7 39 7.8 2.0 60.8
5,000 {EM L E 52 34.6 42.3 28.8 34.6 25.0 23.1 11.5 34.6
& [ 5000 EM ki ~1,000 EM 46 28.3 21.7 326 39.1 13.0 19.6 43 28.3
] 1,000 {8 F &% ~ 500 €M 24 333 29.2 16.7 25.0 8.3 42 - 375
R 500 {8 R i#~100 &M 65 1.7 18.5 20.0 21.7 10.8 10.8 3.1 46.2
= 100 {EMRFH~10 {EM 44 9.1 45 13.6 18.2 6.8 23 23 56.8
10 B R 10 - 20.0 10.0 10.0 - 10.0 - 60.0
Ex BE 163 18.4 215 20.9 27.6 9.2 11.0 43 417
A& | FRFSHICER 58 36.2 328 36.2 345 259 190 138 328
SNERIT RS /Sler IZEREE 57 24.6 24.6 24.6 38.6 22.8 10.5 5.3 36.8
1,000 EMA LI E 10 50.0 60.0 50.0 50.0 60.0 30.0 30.0 30.0
2 1,000 & 5%~ 100 &M 27 40.7 37.0 37.0 444 333 22.2 11.1 18.5
& T | 100 EAXRE~10{EM 39 25.6 28.2 15.4 25.6 1.7 12.8 - 41.0
b3} % 10 {EARE~1 {EH 70 214 25.7 20.0 30.0 43 11.4 43 35.7
"= 1 MR ~1,000 AH 60 5.0 10.0 16.7 25.0 10.0 10.0 1.7 53.3
1,000 Bk 26 - 1.7 15.4 115 3.8 38 38 65.4
SLAHY 73 39.7 35.6 315 38.4 26.0 12.3 11.0 28.8
) E EEEEHY 33 242 36.4 30.3 303 15.2 30.3 3.0 30.3
" oA) FEHNHD 50 16.0 24.0 20.0 26.0 6.0 16.0 20 36.0
SERLEITED 85 35 5.9 12.9 21.2 47 47 1.2 61.2
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[(R#A—2A]

(B3 : 4. MA)

K R L] 1 1= x z

P ? z L | B#& | Z B f

X% ] A & fal Z 1t %

z i R & | 7

£ = FE P4 5 e)

= 7

(N) LY

EZ 241 48 55 54 69 31 31 11 101
BEMKER- i 2 = - - - - - - 2

EEE 18 2 3 3 5 2 2 - 8

HEX 78 15 14 17 18 8 8 3 33
BH-HR-KE 4 1 2 1 2 1 1 1 2
ITH—ERX-@E-ATAT 49 8 10 12 19 6 2 3 19

i%i EE 11 2 1 1 - 1 2 - 5
TEIE 6 - 1 1 - - 1 - 3

JRiE (EI5E - /N5E - R E) 27 3 9 5 9 5 5 2 10

- RIE-1)—X 22 11 9 8 9 4 7 1 10
ZDMDY—ER 21 6 6 6 7 4 3 1 6

LU DEE 3 = - - - - - - 3

it 5000 & Ll E 60 22 22 17 19 13 12 8 20
£ 4999~ 1000 % 67 18 17 15 24 9 9 2 23
8 999~300 % 63 7 13 17 18 7 6 - 27
e 300 & K 51 1 3 5 8 2 4 1 31
5,000 B L E 52 18 22 15 18 13 12 6 18

s 5,000 {& MK i ~ 1,000 {2 M 46 13 10 15 18 6 9 2 13
7 | 1,000 fEFMRiHE~500 fEFH | 24 8 7 4 6 2 1 = 9
5 500 {EFRi#~100 {EH 65 5 12 13 18 7 7 2 30
® 100 EARFE~10 {EM 44 4 2 6 8 3 1 1 25
10 EFXR 10 — 2 1 1 - 1 - 6

B BE 163 30 35 34 45 15 18 7 68
H % | BRFSHICRTE 58 21 19 21 20 15 11 8 19
SNERIT RS /Sler [ZEREE | 57 14 14 14 22 13 6 3 21

1,000 EMA LI E 10 5 6 5 5 6 3 3 3

2 1 1,000 {EFKi#~ 100 {EH 27 11 10 10 12 9 6 3 5
& T | 100 fBAKHE~10{8M 39 10 11 6 10 3 5 = 16
%E% 10 EAXE~11EM 70 15 18 14 21 3 8 3 25
LR 1 M Ri#~1,000 FH 60 3 6 10 15 6 6 1 32
1,000 75 K i 26 - 2 4 3 1 1 1 17
SLA®Y 73 29 26 23 28 19 9 8 21

5 E EEEEHY 33 8 12 10 10 5 10 1 10
i3 oA) FTENDD 50 8 12 10 13 3 8 1 18
SHBEITN 85 3 5 11 18 4 4 1 52
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